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Biamosigao 10 KoMIekcHOT mporpaMu miArOTOBKH JIePKABHUX CIY>KOOBIIIB,
3aTBep/ukeHol YkazoM Ilpesuaenta VYkpainm Big 9 maumcromaga 2000 poky
Ne1212/2000, "ocBiTHBO-TIpOdECiiiHI MporpaMy MIATOTOBKH MAaricTpiB B OCBITHIH
rainy3i "Jlep:kaBHe ynpaBiiHHS" nepeadadaoTh OMaHyBaHHS ... OAHIET 3 1HO3EMHUX
moB"[1.- c. §].

SIkicHe BOJIOIHHS 1HO3EMHOI0 MOBOIO Yy TMepioja iHTerpamii YkpaiHu y
€Bporneiicbkke Ta CBITOBE CHIBTOBAPUCTBO, MOIIMPEHHS JUIOBUX 3B’SI3KIB Ta
KOHTAaKTIB HaJacTh MOXJIMBICTh (axiBUsSM B Tally3l JAEpP>KABHOTO YIPaBIIHHSA
BUBYATH Ta €(PEKTUBHO BHUKOPHUCTOBYBATH 1HO3EMHHUI JIOCBIJl YINpPaBIIHHS
JIeP>KaBHOIO CITyK0070, KOPHUCTYBaTHUCS Cy4YaCHUMH 1HOpMaIIHHUMH
TEXHOJIOTisIMU, OpaTH y4yacThb Y MDKHApOJHUX KOHIpecax Ta ceMiHapaxX 3 MHUTaHb
JIEP>KaBHOTO YIIPABIiHHA, IPOXOJUTH CTAXyBaHHS B 1HO3EMHHUX JIEPKABaX 3 METOIO
BJIOCKOHAJICHHSI (paxOBO1 MIATOTOBKH, MPOBOJUTH MHUCHMOBHN OOMIH JI1JIOBOIO
1H(pOopMaIIi€ro, TOIIO.

HopmatuBna mucrumnina H-10 "/limoBa anrmidickka mMoBa" Mae 3a MeETy
"HAaBYUTH BUIBHO CHUIKYBaTHCS 3 HOCIIMHU aHTJIIMCHKOI MOBU 3a THUTaHHSIMU
npodeciiiHol  iAIbHOCTI, BUKOPHUCTOBYIOUM CYYacHI YIpPaBIIHCHbKI TeXHOJOril"
[2.- c. 116-125]. HaBwanbHa mnporpamMa HOpPMAaTUBHOI JucuuIUiiHa "JlimoBa
aHriiiicbka MoBa'" nepenbayae, 1110 clyXayl HOBHHHI
e OBOJIOJIITMU TEPMIHOJIOTIEI0, SIKA OXOIUTIOE OCHOBHI KOHIEMIIi Jep>KaBHOTO

yIpaBJiHHS, Ta 3HATH 1JIOMAaTUYH1 BUPA3u AUTIOBOI aHITIHCHKOI MOBU;

e PO3BUHYTU Ta MOTTUOUTH HABHUUKH YCHOTO Ta MHCEMHOIO JIJIOBOI'O MOBJICHHS 3
MUTaHb JIEPKABHOTO YIPaBIIHHSA, MIKPOCKOHOMIUYHUX MpoOJeM, CTPYKTypHU
YIPaBIIHHS IEPCOHATIOM;

¢ 3aCTOCOBYBaTH 3700yTi y TpoIlleci BUBUCHHS aHTJINACHKOI MOBHU TpodeciiiHi Ta

KOMYHIKaTUBHI HABUYKH JJISI BUPIIICHHSI MIOBCAKISHHUX TTPOOJIEM;
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e 3HaTH OCOOJMBOCTI THUCHBMOBOTO CHUIKYBaHHS 1 BMITH CKJIaJaTH JdiJIOBI
JIOKyMEHTH Ha 1HO3eMHii MOBI.

[Iporpama ckiamaeTbCcsi 3 MOAYJIB, SIKI OXOIUTIOIOTH TaKi OCHOBHI TEMH, SIK
"[IpaBoBe 3abe3nedeHHs MiAMTPUEMHHUIIBLKOI AisabHOCTI", "[HhOopMalliiiHl cuctemMu B
ynpasmiaHi", "Teopis cyuacHoro npepxaBHOro ympaBiuiHHs", "ba3oBi TOHATTS
(GYHKIIIOHATBHOTO Ta aIMIHICTPATUBHOTO MEHEMKMEHTY'", "MikpoeKoHOMIKa: BUIM
nignpuemctB", "Punok npari", "Exonomiune 3poctanus", "YnpaBiiHHA TPyA0BUMU
pecypcamu'.

OcHOBHMMHU OpraHizaliiHuMu (popmMaMu BHUBYEHHS aucuuruiind "JlioBa
aHTIIChbKa MOBA" € IPAKTUYHI 3aHATTS, BUKOHAHHS 1HIUBIIyaATbHUX POOIT, 3aJIiK Ta
ICITUT, STKUM TePeyIOTh MMiJICYMKOBI KOHTPOJILHI POOOTH.

Cnyxadi MaricTpaTypd OMAHOBYIOTh TIPOrpaMOBUM Matepian HUIIXOM
OTIPAIIOBAHHS HABYAIBHO-METOJUYHOI JIiTepaTypH, IHTEHCUBHOTO BUKOPHCTaHHS
1HOpMAIIMHUX TEXHOJOT1M, TaKMX SK MYJIbTUMEJIMHI MOBHI KypCH, BiJIMOBIJIHI
caiitu  [HTepHery. CnyxadaM pEKOMEHIYEThCS TMPAKTUKyBaTH  OTPUMAHHS
IHAUBITyaTbHUX KOHCYJbTAIll, BUKOHAHHS JOMAIIHIX 3aBJaHb 3a JOMOMOTOIO
€JIEKTPOHHOI MOIIITH.

Cnyxaul wmaricTpaTypd NOBHHHI PAaIlllOHAIbHO OpPraHi3yBaTH CaMOCTIMHY
poboTy Ta 3abe3meunTH 1i pe3yabTaTUuBHICTh. CKIIAJIOBOI0 YaCTHHOK CAaMOCTIHHOI
poOOTH HaJ BUBUEHHSM MPOTPAMOBOTO MaTEpially € ONpPAIFOBAaHHS CIICIiaTi30BaHO1
JiTepatypu 3a axoM aHTIIMCHKOIO MOBOIO Ta MIATOTOBKA OTJIAIOBUX pedeparis,
JIOTIOBIiJIeH Ta MOBIOMIIEHB, SIKI CIIyXadl MPe3eHTYIOTh MiJ] Yac MPaKTUYHUX 3aHSTh
Ta 1HAMBIAYaJlbHUX KOHCyJbTamiii. Ha mnepumiomy ertami HaBYaHHS —ciyxadl
BU3HAYAIOTHCA 3 TEMOKO CBOT'O JOCIHIKCHHS, MiJIOUPAIOTh Ta O3HAHOMIIIOIOTHCS 3
($haxoBOIO JIITEpaTypor0, TOTYIOTh IUIaH Ta OCHOBHI Te3W CBOIX pedepariB Ta

nomoBifel. Ha npyromy etami ciyxadi Mmpe3eHTYIOTh CBO1 3aBepileHi poOoTH,
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3aXUIIAIOTh iX MiJ Yac MPAaKTUYHUX 3aHiATh. OCOONMBY yBary ciiji 3BEpHYTH Ha
3aCBOEHHS TEPMIHONOTIYHOI Jiekcuku. Ciyxadi roTyloTh BoKaOysipii 00’eMoM He
MeHuie 100 TeKCHYHUX OJIMHULIb, TOTY4Yal0Th MO0 /10 MIArOTOBIEHUX pedeparis, Ta
3/1al0Th 3aJ11K Ha 3HaHHS 0a30BOT TEPMIHOJIOTTYHOI JIEKCUKH.
Jlnst camocTiitHOT poOOTH MPOTIOHYETHCS TaKUK MPUMIPHUHN TIEPENTIK TEM IS
JomoBiael Ta pedeparis:
* CydJacH1 TIX0U 10 Teopil yIpaBIIiHHS.
* KoM torepu Ta iHopmaliiiHi CHCTEMH B YTIPaBIIiHHI.
* ba30B1 MOHATTS aAMIHICTPATUBHOTO MEHEKMEHTY .
* BIo)KeTyBaHHs, MPOTHO3YBaHHs Ta O13HECINIaHyBaHHS.
* (CHOBHI KOHIIEIIi yIPaBIiHHS TPYJOBUMH peCypcamu.
* (CHOBHI BUJIU AiSUTBHOCTI YIIPaBIIHIIIB.
* (cOOJMBOCTI CIIUIKYBaHHS YIPABIIIHIIIB.
* B3a€MOBITHOCHHH MOMUTY Ta MPOIO3HUIIII.
* PHWHOK mparii Ta riaTHs.
* ExOHOMIYHA pOJIb yPSIy.
* Teopist cycniabHOTO BHOODY.
* HampsMku Ta Jpkepesna eKOHOMIYHOTO 3pOCTaHHS.
* JlianmpueMHUIIbKE MTPABO Ta HAPTHEPCTRBO.
* [IpaBOBI aclieKTH TOPTOBOI JTiSITLHOCTI.
* MixHapo/iHa TOPTIBIIA Ta ii JKepena.
(Criucoxk  peKOMEHJOBaHOI1 JIiTepaTypd TMOAAHO B KIHII JIaHOTO HaBYaJIbHO-
METOJIMYHOI0 MMOCIOHMKA. )
Crnyxaui MaricTpaTypu NOBUHHI OpaTH aKTHBHY yd4acTh B OOTrOBOPEHHI
MUTaHb, MMOB’SI3aHUX 3 TeMaMU MOMAYJIIB, PO3YMITH Ta IHTEPIPETyBaTH 1H(GOPMAIIiTO,

gKa MICTUTBCS Y PI3HUX JDKepenax. 3 I[€0 METOW Yy CITIl HaBYaJIbHOTO
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HABaHTAXCHHSI IM1J1 YaC MPAKTHUYHUX 3aHATh BUIISETHCS Yac uis poOOTH 3 aylio- Ta
BijleomarepianamMu (axoBOTO CIPSIMYBaHHs, a TaKOX IependadaeTbcs poboTa y
Mepexi [HTepHeT 3 MeTol0 MOUIyKy Ta OTpUMaHHs iHdopmamii s HayKOBO-
JOCIIITHULIBKUX POOIT ciayxayiB Marictpatypu. lle cmpusitume iHTeHCcHbiKaIlii
HaBYaJIBHOTO TIpoILiecy 1 O1IbII e(EeKTUBHOMY 3aCBOEHHIO HABYAJIBHUX MaTepiaiiB.
[IpakTuuHi 3aHATTA, 3TIAHO 3 TPOrpPaMor0, MalTh Ha METI aKTUBI3AIlIO
MOBJICHHEBUX BMiHb Ta HABUYOK, X MPAKTHYHE 3aCTOCYBaHHS IIiJl YaC BUKOHAHHS
cllyxadaMHl KOMYHIKaTUBHUX BIIPaB Ta 3aBJlaHb 3a BIANOBIJHUMU TEMaMHU MOYJIIB.
Ha npakTuyHuX 3aHATTAX COyXadl pO3BUBAIOTh HABHYKM YCHOTO MOBJIEHHS Ha
OCHOBI1 MPOYUTAHUX Ta 1HAWBIIYaJIbHO OMpPAIlbOBAHUX TEKCTIB 32 TEMaMU MOJIYJIIB,
BUKOHYIOTh BIIpaBU Ta 3aBJaHHS, SIKI CIPHUSIIOTH 3aCBOEHHIO IMPOTPaMOBOIO
MaTepiany.
JIs1 HaJle)KHOTO OpraHi3allifHOTO Ta HaBYAJIBHO-METOJAMYHOTO 3a0€3IeUeHHS
CIIyXadiB MaricTpaTypu po3po0JIeHO 3aIIpOTIOHOBAHUM 301pHUK HaBYAIBHUX TEKCTIB,
TPEHYBaJIbHUX BIPAB Ta KOHTPOJBHUX POOIT 3 mucuuiiiinu "JlimoBa aHrilichKa
MoBa", SIKMI BIJAMOBia€ OCHOBHMM BHMOTaM Ta KpuTepism [Iporpamu miAroToBKH
MAaricTpiB JIep>KaBHOI CIy»XOH, 3aTBep/KeHOi [ OJIOBHUM YIpaBIiHHIM Jep>KaBHOI
CIIy 0 YKpaiHu.
Jlanuii HaBYaTbHO-METOIUYHUYN TOCIOHMK Ma€ 32 METY
¢ JIOMOMOTTH  CllyXauyaM MaricTparypu pO3IMIMPUTA 1 30araTUTH  3amac
TEPMIHOJIOT1YHOI JIEKCHKH BIIMOBITHO 70 CIIeIiai3allii;

¢ PO3BUHYTH Ta 3aKpIMUTU HABUYKA YUTAHHS aJalTOBAHMX TEKCTiB (HaxoBOro
CIpsIMYyBaHHS 3 METOIO IOBHOTO OTPUMaHHA 1H(POpMAIIii;

¢ AKTUBI3yBaTH HAaBUYKM YCHOTO MOBJIEHHS MiJ 4Yac NepeKasy Ta OOroBOpPEHHS
HaBYaJbHUX OCHOBHUX Ta JOJATKOBUX TEKCTIB Ta BUKOHAHHS TPEHYBAJIbHHUX

BIIPAB;
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¢ PO3BUHYTH HaBUYKU ITMCEMHOTO JIIJIOBOTO MOBJICHHS;
¢ JIOTIOMOTTH Yy BUKOHAHHI 3aJliKOBOi Ta €K3aMEHAIIIiHOi KOHTPOJbHUX PpOOIT,
CKJIQJIOBOIO YACTUHOIO SIKUX € 3aBJIaHHA 3 IJIOBOT KOMYHIKAIIii.

[TociOHUK Mae 4iTKy CTPYKTYpPY Ta CKIIQJA€ThCA 3 aJalTOBAaHUX OCHOBHUX Ta
JIOJTATKOBUX TEKCTIB 3a (haxOM HaBUaHHS, JEKCUKO-TpaMaTHYHUX BIIPaB, IPUMIPHUX
KOHTPOJIbHUX POOIT, BOKAOYJISAPit0, CIUCKY peKOMeHA0BaHOi jiTeparypu. OCHOBHI
TEKCTU OXOIUTIOIOTH 0a30Bi MUTAaHHS €KOHOMIKU Ta Oi3Hecy. [licisTekcToBl MUTaHHS
OpPIEHTOBaHI Ha KOHTPOJIb PO3YMIHHS MPOYUTAHOTO 1 OYyAyTh CHPHUSATU PO3BUTKY
HAaBUYOK YCHOTO MOBJICHHS. JloJaTKOBlI TEKCTH Ta JUCKYCIMHI THUTaHHS IS
PO3BUTKY KOMYHIKaTUBHHUX HABUYOK JOMOMOXYTh 1HTCHCH(IKYBAaTH HaBYAIHHUI
npolec.

Jlis  Kpamoro 3acBOEHHS MaTepialy CTaBUTbCS BHMOTa 3/1€0UIBIIOTO
MUCHPMOBOTO BUKOHAHHS  JICKCUKO-TpPAMAaTHYHUX BIIpaB. TpeHyBajbHI BIIpaBU
JIOTIOMOXKYTh aKTHBI3yBaTH BXKWBAaHHS TEPMIHOJIOTIYHOI JICKCUKH, TPAMATHIHO
NpaBUIbHO OyayBaTH CBOI BHUCJIOBIIOBaHHA. /[l 3akpilieHHS TEMaTUYHOTO
MaTepianxy MOJAOThCSA 3alMUTaHHS, SKI CIY’KaTh IJIAHOM JIJIi OOTOBOPEHHS MEBHOI
TEMU Ta CIMOHYKAIOTh CIyXauiB J0 y4acTi y Auckycii. Jlo KOXKHOI TeMH BKIIOUEHO
3aBJaHHS Ha pedepyBaHHS Ta aHOTYBaHHS TEKCTIB. BokaOyisipiii MiCTHTh
PEKOMEHJIOBaHY TEPMIHOJIOTIYHY JIEKCMKY B al(aBiTHOMY TMOPSAKY, IO
0€3CyMHIBHO JIOTIOMOXE CllyXadyaMm OIpalfoBaTH Ta Kpaile 3acBOITH TEMH,
BU3HAYCHI TPOTPAMOIO.

JIJiss KOHTPOJIO 3aCBOEHHS 3HAHb, MepedauyeHUuX MPOrpaMor0, MPOBOISTHCS
KOHTPOJIbHI pOOOTH, 3aJIIK Ta ICIIHT.

Jlanuii HaBYaJIbHO-METOAMYHHMI TOCIOHMK TPU YMOBI CHCTEMATHYHOI Ta

edeKkTUBHOT poOOTH HAJl MOrO OMpAIFOBAHHIM JOTMOMOXE ClyXauyaM Marictparypu
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aKTUBHO 3aCBOITH TMPOTPaMOBHN MaTepiasl BiJIMOBIIHO O CBOEI cremiaizarii Ta

BUKOPHUCTOBYBATH HOT0 Y IPAKTHUHIN JiSUTBHOCTI.

Unit 1. The Economic Macro-Environment of Business.

Topic 1. The Economy as a System.
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Task 1. Learn the following economic and management terms.

1. generate, v

. counter-flow

. expenditure, n
. Inject into

. leak out of

. surplus, n

. inevitably, adv

. survive, v

O© 0 3 O »n K~ LW DN

. prosper, v
10.seek to do sth

11.be aware of

12.threat, n

13.economic policy

14.economic indicator

15.value, n

16.Gross Domestic Product (GDP)
17.boundary, n

18.rate, n

19.recession, n

20.period of boom

21.induce sth

22.coincidence, n

23.hitherto

24 unexploited natural resource

25.surge in growth

BUPOOJIATH, TBOPUTHU

PYX Y 3BOPOTHBOMY HAIPSMKY
BUTpATa

J0JTaBaTH; BBOJIUTH Y

BHUTIKATH 3

HAJIUIIOK

HEMUHYYE

BIDKUBATHU

npouBiTaT ((piHAHCOBO)
HaMaraTHUCh; ITyKaTH 3aCO0u
3HATH, YCB1IOMJIIOBATH

3arposa

€KOHOMIYHA ITOJIITHKA; TJIaH J1H
€KOHOMIYHUI TOKA3HUK
I[IHHICTH

BaJIOBUI BHYTPIIITHIN TIPOTYKT
Mexa

CTaBKa; piBEHb; HOpMa

craji eKOHOMIYHOTO PO3BUTKY
Mepioji eKOHOMIYHOTO 3pOCTaHHS
CTIIOHYKAaTH, CTUMYJIIOBATH
CITIBITaJaHHS

710 CUX TIip, 10 TETEPIIIHBOIO Yacy
HEpO3Bi/IaHE POJIOBHUILIE

paIToBHil IEP10 €KOH. 3pOCTaHHS
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26.spin-off in activity
27.accumulation, »
28.hinder, v
29.promote, v

30.counter-cyclical economic policy

31.fluctuations

32.be constrained
33.have sth at (sb's) disposal
34.consistent with sth
35.subsidize, v
36.achieve, v
37.interest rate

38.be subject to
39.time lag
40.forecast, v

41.cut taxes

42.boost, n

43 recover, v

Task 2. Read and translate the text No. 1.

3rOPTaHHS JiSUTHHOCTI

301IbIIICHHS, HATPOMAKEHHS
MEPENIKOHKATH

CIPHUSATH, 320X0TYBATH

3aX0AM JUIA HEWTpamizaiii HeraTuBHUX
e(eKTIB EKOH. MOITHKH

KOJIMBaHHS

OyTH 0OOMEXEHUM; 3MCHIIICHUM

MaTH 110Ch Y (CBOEMY) PO3MOPSII>KEHH1
y3roJKEHHUH 3 UUM-HEOY b

HaJaTu ypsAI0BY (IHAHCOBY MIATPUMKY
JaocATaTH

MPOIIEHTHA CTaBKa

OyTHU MiAMOPSAKOBAHUM; CXUITBHUM
4acoBe BiJICTaBaHHSA

nepeadavaTu

CKOPOYYBAaTH MOJATKH

(eKOHOMIYHE) MMOKBABJIECHHS

IOIIPABJIATHUCH

ECONOMIC GROWTH
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(adapted from: M. Buckley, Business Studies, Longman, 1992)

Economists see the economy as a system which generates a flow of goods and
services produced by businesses, for the use of households and consumers. A
counter flow of payments takes place to the factor inputs used in the production of
these goods and services (land, labour, capital).

This is illustrated in simple form in Fig. 1. Fig.1

Consumption
expenditure

Goods and
services
(GNP)

N

HOUSEHOLDS BUSINESSES

Factor

;

Factor
incomes
(e.g. wages)

This ‘circular flow’ is a basic model of the relationship between flows of physical
goods and money flows. The model may be refined to show the existence of a range
of injections into, and leakages from, this simple circular flow model (Fig. 2).

Fig.2

11
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Rest of the
LEAKAGES world INJECTIONS
Government

HOUSEHOLDS BUSINESSES

g) income

Some of the household incomes generated in producing goods and services in the
domestic economy ‘leak out’ of the system. That is to say, the money is not passed
on to domestic businesses. For example, spending on imports goes to foreign firms
and individuals. Taxes go to the government and savings are held by financial
institutions. Imports, taxes and savings are ‘leakages’ in that they are not directly
received by domestic businesses. On the other hand, domestic businesses receive
income from sources other than domestic households. We call these ‘additions’ to
the circular flow of income ‘injections’. For example, domestic businesses receive
income from overseas households and businesses when they export. Some domestic
businesses also receive income from the government (government contracts) or by
way of investment when other businesses buy plant and equipment. Exports,
government spending and investment are classed as ‘injections’ in that domestic

businesses receive income from sources other than domestic households.

12
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Any surplus of injections over leakages will increase the flow of income (create
domestic growth) whilst a surplus of leakages over injections will reduce the flow of
income (cause negative economic growth). Since this flow of income passes through
businesses, their activities will inevitably be affected and they will have to plan their

activities with possible future changes in mind, if they are to survive and prosper.

Governments seek by various means to manipulate items (a), (b), (c), (d), (e) or (f) in
Fig. 2 in order to maximise item (g), the flow of income in the system. It can be seen
that government management of the economy in this way is channelled through
businesses, hence the need for businesses fo be aware of the threats and

opportunities offered by changes in government economic policy.

Economic growth is the most important of the economic indicators mentioned
above. It is a measure of the rate at which the real output of the economy is growing
over time. By ‘real output’ we mean the actual volume of goods and services
produced by the economy (and the incomes which flow from this output). In other
words we eliminate from our calculations of output (and income) the effects of

inflation, which raises the ‘value’ measured by prices, but not the volume.
The Gross Domestic Product (GDP) is the concept often used to measure output.
This refers to the output produced by individuals and businesses actually located

within the boundaries of the domestic economy.

Economic growth is calculated as a rate, namely the percentage change in ‘real’

GDP (inflation eliminated). Historically the UK has generated growth of about 2%

13
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to 3% on average per annum. The range has been between - 1.5% in recessions and
4.5% (briefly) in boom periods.
COMPREHENSION QUESTIONS
= How can you define “economic growth?
= Why is this economic indicator very important
- for the government?
- for the businesses?
- for the household?
= What helps to create economic growth?
= What causes negative economic growth?

= What is the rate of economic growth in Ukraine at present?

FACTORS LEADING TO GROWTH

Growth may be induced by the accidental coincidence of favourable resource

conditions, or by government action on key economic indicators. The following

factors help to create growth.

o The discovery of a hitherto unexploited natural resource, such as oil, may
generate a surge in growth. The value of the new output of oil and gas would
obviously increase GDP in its own right. However there would also be enormous
spin-offs in activity in all the necessary support industries, engineering, transport,
etc. These ‘spin-off’ effects are referred to by economists as the ‘multiplier
effect’.

o The development of human skills will increase the capacity of an economy to
grow. Thus economies where a high proportion of school leavers proceed to
further or higher education, especially in applied sciences, will tend to have

higher growth rates than those where a lower proportion do so.

14
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o Capital accumulation is also critical to the generation of growth. This is often
called investment and refers to the process of adding to the net stock of physical
capital, machines, buildings and plants in the private business sector; it also
includes additions or improvements to the infrastructure by public authorities.

« Rapid developments in technology, which bring about the possibility of
productivity gains (more output from the same resources), may also induce a
surge in growth.

A combination of rapid increases in capital accumulation, a highly trained workforce

and modern technology, will generate very rapid growth. Conversely, low levels of

investment and an ageing capital stock will sinder growth.

Once begun, a cycle of growth can be ‘cumulative’. For example, the higher

incomes which accompany economic growth may permit higher savings, which in

turn may be channelled into the higher investment which promotes further growth.

COMPREHENSION QUESTIONS

= Can you enumerate factors which help to create economic growth?

= Are there only advantages in case of discovery of a hitherto unexploited natural
resource?

= What will happen if all school leavers proceed to higher education?

= How can developments in technology induce a surge in growth?

= What can hinder economic growth?

GOVERNMENT POLICY AND GROWTH
The priority of any government in an advanced economy is to generate growth in the
economy. In doing so it is constrained by the effects of growth on inflation,

unemployment and the balance of payments. Thus it must act counter cyclically,
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dampening down periods of boom and stimulating the economy in periods of
recessions. In this way the government is seeking to level out fluctuations in
economic activity. For instance, inflation must be kept to levels which do not cause
long term damage, and unemployment must be kept within politically acceptable
limits. Governments must also keep in mind the ultimate constraint of the balance of
payments deficit level which can be financed in the long term. In seeking to
reconcile the four variables of growth, inflation, unemployment and the balance of
payments, the government has various weapons at its disposal:

« The government may induce injections into, and leakages out of, the circular flow
of income (see Fig. 2). For example, by adjustments in public spending it may
manage the level of total (or aggregate) demand in the economy to make it
consistent with sustainable growth.

« By adjusting the level and types of taxation, social security benefits and subsidies,
it may also achieve the same effect.

o It may similarly use its powers of control over the money supply to manage
aggregate demand. This may involve direct adjustments to the ‘volume’ of credit
available from the banking system and/or adjustments in the ‘price’ of such credit,
via interest rates.

« Any increased level of demand resulting from high levels of growth may cause
inflationary pressures in the labour market, resulting in unacceptable rises in

money incomes.

All of these measures are inclined fo be subject to time lags and their overall effect
cannot easily be forecast. For instance, if the government seeks to cut taxes in a time
of recession, by the time the tax cuts work through to higher spending the economy

may already be in recovery. There may then be the danger of over-stimulating the
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economy, so that the extra spending from the tax cuts causes excessive inflation and

balance of payments rather than the intended boost at a time of recession.

COMPREHENSION QUESTIONS

= Why does any government intend to generate growth in the economy?

= What does it mean “to act counter cyclically”?

= What fluctuations in economic activity should the government level out?

— How can the government reconcile the four variables of growth, inflation,
unemployment, and the balance of payments?

— What may happen in case of overstimulating the economy?

Task 3. Find in the text and write down corresponding equivalents.
sudden but short lived periods of economic growth
periods of rather uncontrolled economic growth

a temporary slow-down in economic activity

an excess of revenues over expenditures

to do very well financially

the amount sth is worth sth

sth which shows the current strength of the economy
measures taken to neutralise effects of economic cycles
money spent

to lower taxes

Task 4. Fill in the blanks using the following words.

is seeking; fluctuations; a surge in; induce; boom periods; recessions; economic
policy; be aware of; to survive; inevitably; prosper; surplus; promote; ‘leak out’;
generated; generation; accumulation; injections; hinder; to cut taxes; leakages.
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1. Businesses must the threats and opportunities offered by

changes in government

2. The UK economic growth ranges between 1.5% in and 4.5%

n

3. Favourable resource conditions or government actions may

growth.
4. The government to level out in economic
activity.
5. Some of the household incomes in producing goods and
services in the domestic economy of the system.
6. of injections over leakages will increase the flow of income
and economic growth.
7. If businesses are and , they will
have to plan their activities.
8. Capital is essential to the of growth.

9. Low levels of investment and an ageing capital stock will

growth.

10. The government may induce into, and out

of, the circular flow of income.

Task 5. Translate the following sentences in writing.
1. The Gross Domestic Product (GDP) refers to the output produced by individuals

and businesses actually located within the boundaries of the domestic economy.
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2. Economic growth may be induced by the accidental coincidence of favourable
resource conditions, or by government actions on key economic issues.

3. Economies where a high proportion of school leavers proceed to further or higher
education, especially in applied sciences, will tend to have higher growth rates than
those where a lower proportion do so.

4. A combination of rapid increases in capital accumulation, a highly trained
workforce and modern technology, which bring about the possibility of productivity
gains, will generate a surge in growth.

5. In seeking to reconcile the four key variables of growth, inflation, unemployment
and the balance of payments, the government has various weapons at its disposal.

6. Extra spending from the tax cuts causes excessive inflation and balance of

payments problems rather than the intended boost at a time of recession.

Task 6. Using the given words, make up sentences and write them down.

1. surplus, A, flow, over, income, of, increase, leakages, of, will, injections, the.

2. leakages, of, injections, A, surplus, will, over, the, income, of, reduce, flow.

3. by, seek, the, system, various, Governments, flow, means, income, of, to, the,
economic, maximize, in.

4. The, an, the, human, of, to, grow, will, skills, increase, economy, development,
capacity, of.

5. incomes, may, investment, be, into, channelled, Higher, the, higher.

6. government, in, The, activity, to, out, seeking, level, is, fluctuations, economic.
Task 7. In writing put questions to the words in italics.

1. A cycle of growth can be ‘cumulative’.

2. Higher investment promotes further growth.
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3. The priority of any government in an advanced economy is to generate growth in
the economy.

4. The government must stimulate the economy in periods of recession.

5. Unemployment must be kept within politically acceptable limits.

6. There may be the danger of over-stimulating the economy.

Task 8. Open the brackets in the following sentences using the given words in the

correct form.

1. Since the flow of income (to pass) through businesses, their

activities (to be affected) inevitably.

2. It can (to see) that government management of the economy
(to channell) through businesses.

3. Businesses should (to be aware) of the threats and

opportunities (to offer) by the government.

4. By ‘real output’ we (to mean) the actual volume of goods and

services (to produce) by the economy.

5. The value of the new natural resource (to increase) obviously

GDP in its own right.

6. Inflation must (to keep) to levels which

(not to cause) long term damage.

Task 9. Have a discussion on the topic “Economic Growth”. Use the following
questions as a plan.

1. What does the economy as a system generate?
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. How do injections and leakages influence on the flow of income?
. Why should businesses plan their activities?
. What do governments do to maximize the flow of income in the system?
. What do we mean by ‘real output’?
. What does the GDP refer to?
. What factors may help to create growth?

. What is the priority of any government in an advanced economy?
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. Why is the government seeking to level out fluctuations in economic activity?

10. What may happen if the government seeks to cut taxes in a time of recession?

Task 10. Using active business vocabulary, write a short summary of the text (not

more than 200 words).
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SUPPLEMENTARY TEXT FOR READING AND DISCUSSION
STAFF ASSESSMENT

(adapted from: L.Y .Kulish, E.A.Druyanova, M.F.Khachaturova. English for Communication.
Kyiv: Astarta, 1995)

Staff assessment has great potential for improving the efficiency of an organisation. Staff
assessment requires a well thought-out and systematic approach. The purpose of staff
assessment is not to make immediate decisions about promotion or salary increases. The
primary purpose is to improve the performance of the individual and the whole
organization. The annual staff assessment interview is an excellent opportunity to resolve
problems and develop possibilities. At the beginning of the interview encourage an
employee to speak openly of his successes and failures, let him analyse his work. When
you come to give your own views treat the interview as a two-way discussion. Focus on
the performance in the job, not on personality traits that have no connection with his
work. Don’t compare him with other employees. When criticising his performance, do so
with reference to concrete examples and with the focus on the future. Don’t dwell on
mistakes, but praise his achievements. He must know that his successes have been
recognised. Finally, there should be an agreement on a plan of actions to improve
performance. Assure him of your support in carrying out the plan. The employee should
know what to do to improve his work and feel confident that he can do it.

DISCUSSION QUESTIONS

= What are aims of staff assessment?

— What are advantages and disadvantages of staff assessment?

= What should managers emphasize while conducting staff assessment?

= Why should staff assessment interview be treated as a two-way discussion?

= What is the outcome of staff assessment interview?

Role-play the staff-assessment interview.

22



JIJTOBA AHIJIIMCbKA MOBA

Topic 2. Inflation.

Task 1. Learn the following economic and management terms.

1. aggregate demand CYKyITHUM TTOTTUT

2. bargaining power nepeBary Mpy BEJICHHI MIEPETOBOPIB

3. in excess of O17IbIIIEe, HIJK

4. rise, v 1 THIMATHCS

5. purchase, n MOKYyIIKa

6. durables CIOXKMBY1 TOBapU TPUBAIIOTO KOPUCTYBAHHS
7. sth is likely to happen MPaBONO/10HO, IIOCH TPAUTHCS

8. be severely hit by sth OyTH CHUJIIBHO YpaXKEHUM YUM-HEOY b

9. raise sth nigHIMaTH (II10Ch)

10.profit margin Mapka npulyTKy

11.‘demand pull’ inflation 1H}IIALIS, BUKITMKaHA HAJJTUITKOBUM TOMMUTOM
12.squeeze profit margins CKOPOTHUTH NMPUOYTKH

13.lay sb off CKOPOTHUTH KOTO-HEOY b (3 pOOOTH)
14.1ssue bills and bonds BUITYCKAaTH BEKcei 1 obmirartii

15.deter borrowing CTpPUMATH 3alI03UYEHHS

Task 2. Read and translate the text No.2.

INFLATION

(adapted from: M. Buckley, Business Studies, Longman, 1992)
Inflation in the UK is measured by the Retail Price Index (RPI). It is calculated by

selecting a representative sample of goods normally purchased by households. The
items are weighted for relative importance and the cost of the basket of goods today
is expressed as a percentage of the same basket of goods in some starting or ‘base’
year.

CAUSES OF INFLATION
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o Demand pull influences. These are factors which cause an increase in aggregate
demand to levels beyond the ability of the economy to deliver the appropriate
level of output. Such factors include increases in public spending, or sudden
increases in credit creation and money supply by the banking system. In such
conditions buyers want to buy more goods and services than are available at the
time. The demand for goods and services is related to the amount of money in the
economy. If the supply of money increases faster than production increases, the
result is inflation.

o Cost push influences. These are factors on the supply side of the economy which
lead to increases in the costs of production which are then passed on in higher
prices. Such pressure may be caused by the strong bargaining power of large
labour unions (especially at times of full employment) or by increases in the cost
of basic raw materials which force up industrial costs of production. Business
people raise prices when the costs of various factors of production go up.

Fig.3 shows UK inflation record 1962-89. Fig.3.

% change in prices

THE EFFECTS OF INFLATION
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Many economists see inflation as being the most damaging economic phenomenon

which can affect an advanced nation. It may also have alarming political

consequences. Some economists however take the view that some inflation is an

acceptable ‘price’ for economic growth. There is no clear agreement as to when

inflation becomes unacceptable, but rates in excess of perhaps 5% are generally

thought to be threatening, whilst rates in excess of perhaps 15% (hyperinflation)

may cause social and political breakdown. There are a number of reasons for

arguing that inflation is damaging:

When price rises surge ahead of rates of increase of money income, the real
income of consumers will decrease. Consumers will then have to adjust their
purchases and the demand for some products may decrease. High price consumer
durables, for example cars, are likely to experience sharp falls in demand.

Hyperinflation may destroy confidence in money, leading to a return to barter
and the collapse of normal trading.

People who rely on incomes derived from past savings or who are in occupations
where pay rates are slow to respond to changes in inflation, will be severely hit by
inflation. In extreme cases the value of savings may be destroyed.

Businesses are also affected adversely. The costs of inputs will rise, and the firm
will need to raise prices if possible to maintain its profit margins. If it cannot do
so, it may find itself in financial difficulties.

Interest rates usually rise during periods of inflation. For instance the government
may raise interest rates to discourage borrowing and spending, and thereby curb
‘demand pull’ inflation. Firms which rely heavily on borrowing will find that as

interest rates rise, profit margins are squeezed.
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o The attempts by workers and their unions to force up wages in response to
inflation may cause widespread lay-offs where these cost increases cannot be
passed on to consumers in higher prices.

o Firms which rely on export markets will find that their relative prices may rise,
causing them to be priced out of world markets.

GOVERNMENT RESPONSES TO INFLATION

Broadly, governments will respond to inflationary pressures in one of two ways.

A Keynesian approach would concentrate on attempts to aggregate demand through

a combination of monetary and fiscal policies. A range of credit control measures

would be used as part of monetary policy to increase the cost and reduce the

availability of credit for consumer purchases, for example cars. Personal taxation
may be increased and/or government spending cut as part of fiscal policy.

A Monetarist approach would seek to reduce the growth of money supply by

reducing government spending and hence the Public Sector Borrowing Requirement.

Lower government spending would reduce aggregate demand. More important to the

monetarist, it would also reduce the amount of bills and bonds issued by

governments when borrowing, thereby cutting the money supply in the economy.

The monetarist approach would also raise interest rates to deter borrowing in the

private sector.

COMPREHENSION QUESTIONS

—> What are the major causes of inflation?

— Why is inflation damaging for the economy?

= Who suffers most in case of inflation?

= How does government respond to inflation?

= How do people respond to inflation?

— What is inflation rate in Ukraine now?
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Task 3. Find in the text and write down corresponding equivalents.
a person’s strong position in negotiations

something bought

consumer goods expected to last

be seriously affected by sth

to take a reduction in profit

to dismiss sb

to prevent

Task 4. Fill in the blanks using the following words

in excess of; are likely to; durables; bills and bonds; bargaining power; lay-offs;

wages; deter; raw materials; money supply; profit margins; spending;

1. The monetarist approach would reduce the amount of issued
by governments and borrowing in the private sector.
2. It was caused by the strong of trade unions and by increases

in the cost of basic

3. High price consumer , for example cars,

cause fall in demand.

4. As interest rates rise, are squeezed.

5. Widespread were caused by the attempts of trade unions to
force up

6. According to monetarist approach, must be reduced by

reducing government
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Task 5. Translate the following sentences in writing.

1. Demand pull influences are factors which cause an increase in aggregate demand to
levels beyond the ability of the economy to deliver the appropriate level of output.

2. Such factors include increases in public spending, or sudden increases in credit
creation and money supply by the banking system.

3. Cost push influences are factors on the supply side of the economy which lead to
increases in the costs of production which are then passed on in higher prices.

4. Such pressure may be caused by the strong bargaing power of large labour unions
or by increases in the cost of basic raw materials which force up industrial costs of
production.

5. There 1s no clear agreement as to when inflation becomes unacceptable, but rates
in excess of perhaps 5% are generally thought to be threatening, whilst in excess of
perhaps 15% (hyperinflation) may cause social and political breakdown.

6. People who rely on incomes derived from past savings or who are in occupations where

pay rates are slow to respond to changes in inflation, will be severely hit by inflation.

Task 6. Using the given words, make up sentences and write them down.

1. see; phenomenon; harmful; Many; economists; damaging; the; for; the; most;
inflation; economic; nation; while; as.

2. some; economists; acceptable; However; some; economic; view; growth; as; an;
inflation; price; for.

3. damaging; There; for; number; inflation; arguing; is; a; that; are; reasons; of.

4. may; one; to; ways; inflationary; Government; pressures; of; in; two; respond.

5. calculated; sample; by; Price; means; The; purchased; selecting; goods; is; of;
normally; Retail; a; households; representative; by; Index; of.

Task 7. Make the following sentences negative.
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1. In the early 1970s the price of oil increased fourfold.

. Inflation may have alarming political consequences.

. Some consumer goods are likely to experience sharp falls in demand.
. Hyperinflation leads to the collapse of normal trading.

. Interest rates usually rise during periods of inflation.

. The firm will need to raise prices to maintain its profit margins.

~N N O AW DN

. Lower government spending would reduce aggregate demand.

Task 8. Open the brackets in the following sentences using the given words in the

correct form.

1. Hyperinflation (to destroy) confidence in money.

2. When prices (to rise) the real income of consumers
(to decrease).

3. The demand for high price consumer durables (to experience)

sharp fall.

4. (to lead) to a return to barter, hyperinflation may
(to collapse) the normal trading.

5. If the costs of input (to rise), the firm (to

raise) prices (to maintain) its profit margins.

6. Last year attempts (to force up) wages (to

cause) widespread lay-offs.

7. Governments (to be) likely (to respond) to

inflationary pressures in different ways.
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Task 9. Have a discussion on the topic “Inflation”. Use the following questions as a
plan.
1. How is the Retail Price Index (RPI) calculated?

What are causes of inflation?

How can inflation damage the economy?

May inflation have alarming political consequence?

2.
3.
4
5. What is an extreme form of inflation?
6. Who is severely hit by inflation?

7. Why do interest rates usually rise during periods of inflation?

8. What may happen if workers and their unions try to force up wages in response to
inflation?

9. What are government responses to inflation?

10. What response to inflation is more effective?

Task 10. Using active business vocabulary, write a short summary of the text (not

more than 150 words).
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SUPPLEMENTARY TEXT FOR READING AND DISCUSSION
THE DISCIPLINE INTERVIEW

(adapted from: L.Y Kulish, E.A.Druyanova, M.F.Khachaturova. English for Communication.
Kyiv: Astarta, 1995)

One of the least pleasant duties of a manager is holding a discipline interview. It is

done if the employees break the rules or do not meet the performance standards. The

penalties may be the following: reprimand, fines, demotion, dismissal. Before

holding the interview, get the full facts of the matter. Carry out the discipline

interview in private. The dignity of an employee must be respected. The purpose of

discipline interview is to improve behaviour rather than to punish. Disciplinary

action should not be dalayed. If you need some time to investigate the matter, do it

as quickly as possible. At the actual interview tell the employee at once why the

interview is being held. Find out why the offence took place. Encourage the

employee to speak openly about the situation. Ask him open-ended questions, wait

for his reply. Keep the conversation to the point. Be polite but firm. The outcome of

the interview should be constructive. Try to agree on an improvement plan. Fix a

review date and explain what will happen if there is no improvement.

DISCUSSION QUESTIONS

— What is the purpose of the discipline interview?

= What penalties might be imposed for breaking the rules and not meeting the
required performance standards?

= Why should the discipline interview be carried out in private?

= Should disciplinary actions be delayed?

= How can disciplinary actions improve behaviour?

Role-play the discipline interview.
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Topic 3. Employment.

Task 1. Learn the following economic and management terms.

1. unemployment benefits J0TIOMOTa 0 0e3po0ITTIO

2. be made redundant OyTHU 3BIIbLHEHUM 3 pOOOTH

3. emphasize sth HaroJIONIyBaTH I0Ch

4. obstruct, v MEPENIKOIKATH; TypOyBaTH

5. adopt sb’s idea CXBaJIUTU, CIIPUMHATH YUIOCH 171€10
6. encourage investment CIPUATH, 320X0UYBATH 1HBECTYBaHHS
7. relaxation of credit CIPOIIEHI YMOBHU KpEAUTYBaHHS

8. deficiency in sth nedinuT, HeJocTa4ya 4oro-Hedy b
9. current account MMOTOYHUI PAaXyHOK

10.downturn in the economy Craji B eKOHOMIIII

11.overhead costs HaKJIaJH1 BUTPATH

12.gearing, n CIIBBIHOIIIEHHS OOPTY /10 aKTHUBIB
13.bottleneck, n 3aTpUMKa; BiJICTABaHHS

14.1in terms of CTOCOBHO; BIJHOCHO;

15.recruit labour MpaneBIaTOBYBaTH

Task 2. Read and translate the text No.3.

EMPLOYMENT

(adapted from: M. Buckley, Business Studies, Longman, 1992)

The measure of unemployment currently used is the number of persons ‘registered
as unemployed and claiming benefit’. It has been suggested that this figure
understates the true number of persons wishing to be economically active, but

unable to find a job.
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CAUSES OF UNEMPLOYMENT

There are several categories of unemployment. It is important to distinguish between

them as they will require different treatment.

+ Frictional unemployment (or search unemployment). Persons who are made
redundant will need time to search for and start a new job. The time involved in
such searching may be increased by recession and the consequent fall in the
demand for labour.

+ Seasonal unemployment. Fluctuations in demand for labour in certain industries
will be linked either to the seasonal nature of production, e.g. agriculture, or to
seasonal patterns of demand, e.g. children’s toys at Christmas, or summer
holidays.

+ Technological unemployment. This may result from new technology causing a
change in the pattern of demand, e.g. where a new product replaces one of inferior
quality. It may also occur where an established industrial process is replaced by
new machinery, requiring less labour. Skills may then become obsolete, as in steel
making, leading to sudden and often very localised increases in unemployment.
This sort of change may also be referred to as ‘structural unemployment’.

¢ Cyclical or demand deficiency unemployment. Fluctuations of demand, caused
by the pattern of the business cycle, may compound some of the above effects to
produce sudden increases in unemployment.

+ Unemployment due to obstructions to the labour market. Monetarists believe
that this is the major cause of long term unemployment. They see the excessive
national bargaining power of trade unions as being especially important. They
believe that workers are then priced out of work by excessive increases in real

wages. They also see excessively high unemployment benefits as a cause of
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longer search times, thus increasing the number of workers unemployed at a given

time.

Those economists who adopt a supply side approach are likely to emphasise the
importance in creating unemployment of excessive increases in real wages,
obstructions to the labour market and high levels of welfare benefits. Those who
adopt a Keynesian approach are likely to emphasise the importance of inadequate
levels of aggregate demand. Their prescriptions for reducing unemployment will
reflect these views. On the other hand, those who support the supply side approach
will emphasise the importance in reducing unemployment of curbing the power of
the unions, reducing the real value of benefits, and improving the sources of
information about available vacancies. Keynesians, on the other hand, argue for
increases in government spending, encouragement for investment in the private
sector and a relaxation of credit to encourage consumer demand and reduce

unemployment.

RESPONSES TO UNEMPLOYMENT

Governments may respond in a number of ways to high or increasing levels of

unemployment.

o If it is believed that a deficiency in aggregate demand is the cause of
unemployment, it is possible to increase demand by use of a package of measures,
fiscal and monetary. Thus the government might lower taxation and/or increase
public spending. It might increase effective demand by removing restrictions on
credit creation by the banking system and/or by lowering interest rates to induce
both individuals and businesses to borrow for consumption or investment

purposes.
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o If it is believed that imperfections in the labour market are the cause of
unemployment, the government might seek to break the power of the unions by
legislation. More modest wage increases might then help to ‘price’ people back
into work. Alternatively, the government might reduce the real value of benefits
in order to make jobs on low wages more attractive.

+ Where specific industries or regions are worst affected, it might use a policy of
direct subsidy and regional aid measures in order to maintain existing jobs in the
short term whilst encouraging the creation of new jobs.

COMPREHENSION QUESTIONS

= How can unemployment influence upon the economy?

—> What are the causes of unemployment?

= How is it possible to reduce the level of unemployment?

— What are economists’ perceptions for reducing unemployment?

= What is the role of trade unions in curbing unemployment?

Task 3. Find in the text and write down corresponding equivalents.
to dismiss sb

compensation received when out of work

major holdups (delays)

to make investment attractive

to employ

a fall in the amount of business done

lack of sth

this makes loans easier to get
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Task 4. Fill in the blanks using the following words and expressions.

labour market; relaxation of credit; unemployment; unemployment benefits;

encourage;emphasise; deficiency; economic variables; current account; investment.

1. Monetarists see excessively high as a cause of longer search times.

2. In creating some economists the

importance of excessive increases in real wages and high levels of welfare benefits.

3. To consumer demand and reduce unemployment, some
economists argue for encouragement for in the private sector and
a

4. A in aggregate demand is believed to be the cause of
unemployment.

5. Imperfections in the are the cause of unemployment.

6. Government must seek to manipulate the to maintain low

unemployment level.

Task 5. Translate the following sentences in writing.

1. The measure of unemployment currently used is the number of persons
“registered as unemployed and claiming benefit”.

2. Persons who are made redundant will need time to search for and start a new job.
3. Fluctuations in demand for labour in certain industries will be linked either to the
seasonal nature of production, or to seasonal patterns of demand.

4. Technological unemployment may occur where an established industrial process
is replaced by new machinery, requiring less labour.

5. Those economists who support the supply side approach in reducing
unemployment will emphasise the importance of curbing the power of the unions

and reducing the real value of benefits.
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6. The government might increase effective demand by removing restrictions on
credit creation by the banking system to induce both individuals and businesses to

borrow for consumption or investment purposes.

Task 6. Make up and write down sentences of your own using the following words
and expressions.

* to encourage investments

* high levels of welfare benefits

* to make redundant

* labour market

* the cause of unemployment

* a relaxation of credit

* public spending

Task 7. Put questions to the words in italics.

1. The major cause of long term unemployment is obstructions to the labour market.
2. Fluctuations of demand may produce sudden increases in unemployment.

3. Persons who are made redundant will need time to search for and start a new job.
4. Governments may respond in a number of ways to high or increasing levels of
unemployment.

5. It is possible to increase demand by use of a package of measures, fiscal and
monetary.

6. The government might reduce the real value of benefits in order to make jobs on

low wages more attractive.
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Task 8. Open the brackets in the following sentences using the given words in the

correct forn.

1. The government (to understate) the true number of people who
(to wish) to be economically active, but unable (to

find) a job.

2. It is important (to distinguish) between several categories of

unemployment and (to give) them different treatment.

3. Changes in technology may (to lead) to sudden increases in

unemployment.

4. Improving the sources of information about available vacancies will

(to reduce) unemployment.

5. Imperfections in the labour market (to be believed) to be the

cause of unemployment.

6. (to make) jobs more attractive, the government

( to reduce) the real value of unemployment benefits.

Task 9. Have a discussion on the topic “Employment”. Use the following questions
as a plan.

1. What is the measure of unemployment currently used?

2. Why does this figure understate the true number of people wishing to be
economically active, but unable to find a job?

3. What categories of unemployment are there?

4. Why is it important to distinguish between different categories of unemployment?
5. What do the economists who adopt a supply side approach to unemployment
emphasise?

6. What is a Keynesian approach to unemployment?
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7. How can governments respond to high or increasing levels of unemployment?
8. What is the unemployment rate in Ukraine now?
9. What does the Ukrainian government do to reduce the level of unemployment?

10. Are unemployment benefits in our country excessively high?

Task 10. Using active business vocabulary,write a short summary of the text (not

more than 150 words).

SUPPLEMENTARY TEXT FOR READING AND DISCUSSION
CONSULTING STAFF

(adapted from: L.Y Kulish, E.A.Druyanova, M.F.Khachaturova. English for Communication.
Kyiv: Astarta, 1995)

The main concern of managers is getting things done by other people. For this the
managers should have the skills to make decisions, to see that the decisions are
carried out and to get people to go along with your decisions. Consultation is an
essential part of this process. Before consultation the manager should consider the
company’s policy and objectives, the available resources, the deadline for reaching a
decision and people who will be affected by your decision. Consultation isn’t a
matter of collecting facts but the consequences of your decision. For this you must
gather opinions and decide which facts are relevant. The purpose of consultation is
to get assistance in making the decision, and acceptance of the decision once made.
Getting assistance means getting ideas, criticising each other’s suggestions,
generating dissention. To get such productive disagreement your staff must have no
fear of saying what they think. When the time comes to make the decision, review
your priorities, consider the alternatives, weigh up the pros and cons of each. Then
decide what action is to be taken, who 1s to take it and who must be informed of it.

Communicate your decision and check that everyone has understood. Finally, follow
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up the implementation of your decisions. Remember that others may carry out the
work but the responsibility is yours.

DISCUSSION QUESTIONS

= Why is it necessary to consult the staff?

= What constraints should managers consider before consulting the staff?

— What is the purpose of consultation?

— Why is it better to generate dissention than to achieve consensus?

— How can managers communicate their decision?

Figure out topics you would like to consult your staff.

TEST
TASK 1. Match the terms on the left with the appropriate definition or paraphrase
on the right.
_ surge 1. yield (a profit)
. to increase sth

) 2

return on an investment

3. to dismiss sb
4

surplus . a temporary slow-down in economic
expenditure activity
value 5. to encourage sth
6. being out of a certain item
prospet 7. the amount sth is worth
promote sth 8.sudden but short-lived periods of

e economic growth
economic indicator

9. money spent

recession i
10.to vary between different values
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bargaining power (to bargain) 11.when the government provides
be made redundant (redundancy) financial support

12.an excess of revenues over
unemployment benefits

expenditures
lay sb off (lay-off) 13.to lower taxes
: 14.to be fired

squeeze profit margins

15.to buy
durables :

16.to do very well financially
purchase 17.a fall in the amount of business done

. 18.this makes loans easier to get
recover (be in recovery)

19.consumer goods expected to last

t tax t in tax ; i
cut taxes (cu es) 20.to make investment attractive

rise (a rise) 21.to take a reduction in profit
. 22.a person’s stron osition in
raise P & P
negotiations
subsidize (a subsid .
R ze (a subsidy) 23.sth which shows the current strength
fluctuate (fluctuations) of the economy

. 24.to be doing better
encourage mvestment

25.compensation received when out of
relaxation of credit
work

deficiency in sth 26.an increase

dowturn (upturn) in the economy

TASK 2. Read the following text and translate the first two paragraphs in writing.

IMPLICATIONS FOR BUSINESS PEOPLE
(adapted from: M. Buckley, Business Studies, Longman, 1992)
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Government Economic Management

All governments must seek to manipulate the economic variables in such a way as to

maintain stable and low inflation and unemployment levels, high levels of economic

growth and equilibrium in the balance of payments on current account. This

‘stability’ is clearly difficult to achieve.

It is essential for any businessperson to be aware of the condition of the economic

environment in which he or she is operating. The ability to be able to predict the

likely movements of key economic indicators and the likely government responses
to those movements may enable the businesspeople to ‘place’ their business in such

a way as to maximise profits or growth or at least ensure survival.

Economic Growth and the Business

+ Recognition of a likely downturn in growth may allow the business to avoid
being caught with excessive stock, too many employees and too much capacity.
Reduction of inventory and overhead costs may enable it to survive as
competitors fail and to emerge with increased market share when the upturn
comes.

+ Such recognition of a downturn in growth may enable the business to avoid being
caught with excessive ‘gearing’ (borrowing) which may lead to cash flow
difficulties and bankruptcy.

+ Conversely, recognition of a likely upturn in growth may cause the
businessperson to take other decisions. Greater production capacity and stock
levels can be put in place before the expected upturn occurs, reducing the
likelihood of bottlenecks and shortages impeding future increases in sales, etc.

I nflation

+ Since high inflation leads to high interest rates, the successful business will often

be the one which reduces its borrowing requirements during inflationary times.
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+ Businesses operating in a high inflation climate will be wise to avoid competing
with overseas producers on price only, and instead to compete increasingly in
terms of quality, delivery, service and value added.

Unemployment

¢ Increased unemployment may mean that the firm can recruit key labour more
easily and cheaply.

+ A fall in unemployment may cause difficulties. Suitable skilled labour may then

be hard to recruit and retrain and wage levels may rise rapidly.

TASK 3. In writing answer the following questions to the text.

1. What kind of stability must all governments seek?

2. Why is it essential for any businessperson to be aware of the condition of the
economic environment?

3. How can the business avoid being caught with excessive stock, too many
employees and too much capacity?

4. How should businesses compete with overseas producers if they have to operate
in a high inflation climate?

5. Will increased unemployment keep the firm to recruit labour more easily and
cheaply?

6. What difficulties may a fall in unemployment cause?

TASK 4. In writing ask four types of questions to the following sentence.
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o A rise in the level of unemployment will signal to the firm a possible fall in
demand, requiring careful cutbacks of all costs and possibly a change in

marketing strategy.

TASK 5. Make up sentences of your own with the following words and expressions.
= labour force

« flexible working practices

« to stabilise pay

= high interest rates

+ successful business

TASK 6. Correct and rewrite only those statements which are false.

1. Bottlenecks and shortages impede future increases in sales.

2. Downturn in growth promotes greater production capacity and stock levels.

3. Excessive borrowings lead to cash flow difficulties and bankruptcy.

4. High inflation leads to low interest rates.

5. Successful business reduces its borrowing requirements during inflationary times.
6. When it comes to government’s role in the economy, economic growth is the only
goal.

7. It is not possible to consider the circular flow from a strictly domestic point of

view.

TASK 7. Complete the following sentences.
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1. Increased unemployment means ...

2. Sometimes businesses seek to ...

3. Upturn in growth allows the business to ...
4. It 1s difficult to achieve ...

5. To ensure survival the business must ...

TASK 8. Fill in the blanks with suitable words or expressions from the box given

below.

Money supply; inflation; balance of payments; to invest; industry; unemployment;

function efficiently; business; economy; GDP; economic; devaluation.

1. In postwar Britain, governments relied on the Keynesian doctrine of economic

management to remedy the recurrent problems of high levels of

and high

2. Governments had to employ measures to save the

, thus steady growth became difficult.

3. must be kept under control, and that given the right conditions,

the market could

4. Low levels of activity and unemployment are caused by a lack

of demand in the

5. The government’s recent cuts in corporate tax rates should boost the

, Increase confidence and encourage businesses

more.
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Task 9. Complete the fax, using an appropriate form of the verb in brackets.

INDEX ENGINEERING PLC

FAX
Attention of: Shigeru Kanemori From: Peter Wilsdon
c/o Hilton Hotel, London
No. of pages incl. top sheet: 1 Time-Date: 02:00pm 2 June

Please telephone us immediately if you do not receive
the number of pages indicated

Dear Shi geru
Wel cone to Britain. (you/ have) a good
j our ney? (you/ be) tired when you

(get) here? \What
(you/do) last night? I’m sure you
(not/go) to the night club!

I (conme) to your hotel this norning, but
you (not/be) here. The receptioni st
(tell) me that you
(l eave) the hotel at about 9 a.m |
(not/be) surprised because | knew that you have a
neeting at |1CL today.

If you are free tonorrow, phone nme or fax nme on 0171-
222-1234, and we'll have a drink together.

Best wi shes,

Peter

INDEX ENGINEERING PLC INDEX HOUSE

BAKER STREET LONDON W1A 1AA Tel.0712221234

(from Business Basics by D.Grant, R.McLarty, Oxford, 1997, p.53).

Task 10. Now write a fax from Shigeru to Peter.
a Thank him for his fax.
b Answer his questions in the first paragraph.
¢ Explain where you were today (meeting at ICL).
d Explain that you are busy this evening and can’t meet him for a drink. /'m afraid...
e Suggest that you meet tomorrow. Let’s...
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Unit 2. Types of Business Unit.
Topic 1. Private and Public Companies.

Task 1. Learn the following economic and management terms.

1. joint-stock company
share, n

authorised capital

2.

3.

4. issue shares
5. liability, n

6. sharecholder, n

7. subscription clause

8. subscribe to

9. run the company
10.allocation of
11.voting right
12.shareholders’ meeting
13.grant, v

14.funds

15.offer for sale
16.safeguard, n
17.losses, n
18.trade, v
19.transfer of shares

20.takeover offer

21.exercise stringent control over sth

a7

aKIl10HEpHE TOBAPUCTBO

aKis

CTaTyTHHMM KariTaj

BUITYCKATH aKITii

3000B’sI3aHHS

aKIloHep

iHQopMalis B JIOKYMEHTI, fKa BKa3ye,
CKUTBKH aKIlIi MTOBUHHO OyTH IIPOTAHO
MIMHACYyBaTHUCh Ha

KepyBaTH KOMITaHi€l0

PO3MOILI, TPU3HAYCHHS

MpaBo Trojaocy

300pH aKIioHEPiB

JaBaTH 3rOJY; TO3BOJIATH

KOIITH

MPOIO3UIIis HA TIPOAAKY

3aXHUCT

30UTKH

TOpPryBaTH

nepeaayda aKiin

MPOIO3UILis HA 3TUTTS (KOMIaHiH)
3M1MCHIOBATH CTPOTUN KOHTPOJb Haj

YUM-HEOY b
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22 fraud, n
23.liability position
24 incurr debts

25.assets, n

26.be liable for

27.go bankrupt

28.obtain, v

29.1nitially

30.for expansion purposes
31.debenture, n

32.loan, n

33.in anticipation of profits
34.dividend, n

35.retain profit
36.preference shareholder
37.be entitled to sth
38.ordinary shareholder
39.return on capital
40.forego sth

41.lend, v

42.claim, n

43.have no say

44 .majority shareholding

45 .prevent sth (from happening)

46.board of directors

48

oOMaH; He3aKOHHA JISUILHICTD
(iHaHCOBA BIAMOBIIATBHICTD
HaKOMHU4YyBaTu Oopru

aKTUBH

OoyTu 3000B’ I3aHUM; OyTu
BIJIMOB1IaJIbHUM 3a I10-HEOY b
30aHKpYTyBaTu

OTpUMATH, IPUAOATH
CIIOYATKY; TIOYaTKOBO

3 METOI0 PO3IIUPEHHS

6oprose 3000B’sI3aHHSA

MO3UKa

B OYIKyBaHHI PUOYTKIB
IUBIIEH

YTPUMYBATH TPUOYTOK
BJIACHUK MPUBLICHOBaHOT aKIlii
MaTH MpaBo Ha 110-HEeOYy1b
BJIACHUK MPOCTOI aKIii

JIOX1JT Ha BKJIAJIEHHUH KamiTall
B1JIMOBJISITUCS, YTPUMYBATHUCS (B11)
no3uyaTtu (KoMy-HeOy/Ib)
BHUMOTa; IPETEH315

HE MaTH MpaBa rojocy
KOHTPOJBHHM MaKeT aKIilii
3ano0iraT; MePemKo KT

paza TUPEKTOPiB, IPaBIIHHS
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47.major shareholder aKIioHep, SIKUH Mae KOHTPOJIbHHUM MaKeT
aKIii

48.be appointed to the board OyTU MPU3HAYECHUM Y WICHU MPABIIHHS

49.disapproval of HECXBAJICHHS; HEOAKAHHS 3aTBEPIUTH
10-HeOy b

50.function as a rubber stamp for sth CXBAJIIOBAaTH IIOCh 0€3  pO3TIAdy,
00TlyMyBaHHS

51.executive director BUKOHABYMI JUPEKTOP

52.managing director TUPEKTOP-PO3MOPSITHUK

53.preside over a meeting TOJIOBYBaTH Ha 300pax

Task 2. Read and translate the text No. 1.
PRIVATE AND PUBLIC COMPANIES

(adapted from: A.G.McArthur, Economic Theory & Organisation, Plymouth, 1980)

A. Production within the private sector is carried out largely by companies, sole
proprietors and partnerships. Within the public sector, production is carried out

mainly by public corporations.

Within the private sector of the economy companies are by far the most important
form of business unit in terms of the total value of output controlled and numbers
employed. A company is formed by two or more people, normally to conduct
business with a view to making profit, and once it has been incorporated, it takes on
a separate legal existence of its own, quite apart from the individuals who have
brought about its formation. This means that any legal processes carried out in
relation to a company operate as though it were an individual, for as long as it

continues to exist. This feature rigidly distinguishes the company from the
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partnership which, although involving more than one person, has no separate legal

identity.

In order to register a joint stock company the persons concerned (the promoters)
must draw up two documents, a memorandum of association and articles of
association, which must be submitted to the Registrar. There is a legal minimum of
information which the memorandum must contain, including the proposed
company’s name, its objectives in outline, the maximum value of shares (i.e. the
authorised capital) and the types of shares which will be issued, an indication of the
liability position of the shareholders, and a subscription clause. The articles contain
the internal rules which are to govern how the company is run, for example the
allocation of voting rights to the people who are to own the business, i.e. the
shareholders, and the procedure for calling shareholders’ meetings. Assuming that
these documents are satisfactory, the Registrar will grant a certificate of

incorporation, which brings the company into existence.

The next step involves a distinction between the public and the private company. In
the case of a public company, the procedure will often be to raise the necessary
funds to commence business by advertising shares for sale to the general public.
This is likely to be carried out by the publication of a prospectus or an offer for sale.
The public can subscribe to these shares in varying quantities subject to a minimum,
and the promoters of the company must also legally take up at least one share each.
There is, of course, no guarantee that the public will subscribe to all or any of these
shares, in which case the company might have insufficient funds to begin business
operations. A safeguard 1is required here to protect those people who have

subscribed from /losses which might result from any attempt to commence business
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with an inadequate financial base. Consequently, a public company cannot start to
trade until a minimum subsciption figure (stated in the memorandum and agreed by
the Registrar) is reached, when the Registrar will issue a trading certificate.
COMPREHENSION QUESTIONS

= What types of business units do you know?

= Which form of business is the most important?

= What is the procedure to register a joint stock company?

— Can a public company start to trade if a minimum subscription figure is not

reached?

B. The procedure for a private company varies in that shares cannot be offered for
sale to the general public, no prospectus of offer for sale thus being required, and
consequently there is no need to protect the general public from possible loss.
Private companies do not need a trading certificate and can commence business
whenever they so wish, following their incorporation. Also private companies
normally have included in their articles a clause which effectively prevents the
transfer of shares by an individual shareholder to another person without the
agreement of the directors. This enables control of the company to be kept by the
immediate group of people concerned, e.g. a family, and thus provides a barrier to

undesired takeover offers.
The directors of large public companies are usually unknown personally to members

of the sharebuying public, so it is necessary for stringent control to be exercised

over company formation and behaviour to protect shareholders from fraud.
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All limited companies are now required to submit accounts, whether they are public
or private. The terms “limited” and “unlimited” refer to the liability position of the
shareholders of a company. The existence of limited liability means that, although
shareholders may lose fully the value of the shares they have purchased in a
company, they cannot be called upon to pay any further debts which have been
incurred by the company and which cannot be fully repaid out of its existing assets.
This protection is essential in a public company if people are to be persuaded to buy
shares, because they would otherwise be unwilling to risk becoming liable for any

further sums of money should the company go bankrupt.

As previously explained, companies obtain their finance initially from the sale of
shares, but further future issues are possible and quite normal as further funds are
required for expansion purposes. Such share capital forms the basic finance of a
company, but, once operational, companies are likely to raise additional finance in a
variety of other ways, for example through debenture issues and bank /oans. The
existence of limited liability obviously reduces the risk taken by people providing
the share capital of a company, but it does not eliminate it - this capital can still be
lost! To encourage people to take this risk some reward must be offered, and shares
are thus purchased in anticipation of profits to be made from the company’s
operations (and possibly gains from the rising value of the shares). Dividends are
paid on existing shares out of profit made (or possibly at least partly out of reserves
if profits are inadequate), although some profit is commonly retained for future use.
The holders of preference shares are entitled to a fixed dividend e.g. 9 per cent
while ordinary shareholders receive a variable amount, depending partly on the

level of profit and partly on the directors’ dividend policy.
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This return on share capital is considered by economists to be partly interest, as a
reward for the shareholders foregoing the use of the money for other purposes, and
partly pure profit for bearing the risk of (a) a low return (if any) and (b) the loss of
their share capital through the bankruptcy of the company. Shareholders are legally
the owners of a company and as such take the main risk of possible loss. As
mentioned previously, finance may be raised in other ways than through the sale of
shares. Anyone lending money to a company, as opposed to buying shares and
becoming a part-owner, becomes a creditor and, as such, will also be taking a certain
amount of risk. However, the risk taken is not as great as that of the shareholders, in
that in the event of the liquidation of a company, all creditors have a prior claim on
the assets of the company. The shareholders can only be repaid after all creditors,
and it may well be that the assets of the company are insufficient to allow full
repayment of share capital, if any. Thus, the shareholders are taking the greater risk.
COMPREHENSION QUESTIONS

= How does the private company differ from the public company?

= How is it possible to protect shareholders from fraud?

— What does limited liability mean?

= How do companies obtain their finance?

= Who takes the greater risk: shareholders or creditors of the company?

C. Because the shareholders are the owners of a company, one would expect them to
have some control over the operation of the business, but this is by no means always
so. Firstly, not all shareholders have voting rights. Commonly these rights are held
entirely by the ordinary shareholders, and are related to the number of shares held,
e.g. one vote for one share. Preference shareholders normally have no such rights

and thus have no say in the running of a company, except in special circumstances.
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Secondly, the voting rights of some ordinary shareholders may be effectively of no
importance should one person or a small group of persons hold a majority of the
voting shares. They are able to exercise their voting rights, but will ultimately be
unable to prevent the acceptance or non-acceptance of any matter being considered.
Ownership is thus said to be separated from control. Shareholders are always,
however, entitled to attend general meetings, at least one of which must be held each
year, namely the annual general meeting. At these they can express their views even

though they may not be accepted.

In general, the average shareholder has very little control over the operation of a
company. All but the most major policy decisions, such as those involving a change
in the articles, are taken by an elected board of directors. This board is in fact
elected by the shareholders, but it is likely, at best, to be only the major
shareholders (if any) who find themselves appointed to the board, and it is this
board which then makes the policy decisions. Shareholders have the opportunity to
express their disapproval of the board’s actions when directors seek re-election at an
annual general meeting, but private shareholders will normally find it impossible to
obtain sufficient support to force any changes in the board’s membership. Partly for
these reasons many shareholders never attend such meetings, which tend to function
merely as a rubber-stamp for the chairman of the board’s report, which will include
details of the previous year’s trading results and his view of the company’s future.

Many of the directors themselves often have very little to do with a company’s
operations, their function being only to attend board meetings for the purpose of
voting on policy matters and possibly putting forward their own views. However,
there will also be directors who take a more active role in the working of their

company, possibly being responsible for a particular activity, such as production, or
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department, such as marketing. These are the executive directors, who carry out this
work on a full-time basis and who will be paid salary. There will be also a managing
director (or chief executive officer) who will take overall responsibility for the
firm’s day-to-day operations and will co-ordinate the activities of the other
executive directors. The chairman may simply be the person who presides over
board meetings, but he may in addition play an active role in the work of the
company, and the post is commonly combined with that of the managing director or
CEO.

COMPREHENSION QUESTIONS

= Who are the owners of the company?

— How do the shareholders control the operation of the business?

= Who makes the policy decisions of the company?

= Who is responsible for a particular activity of the company?

= Who takes overall responsibility for the company’s day-to-day operation?

Task 3. Find in the text and write down corresponding equivalents.
stock

stockholder

direct or manage a business

offer to take control

property and possessions

be answerable

be legally declared insolvent

a sum of money lent to someone
share of profit paid to shareholders
yield
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demand or request for sth

official administrative body of a company
the process of giving sth to sb

money

a protection

money lost

move ownership in sth to someone else
watch/monitor sth very closely

illegal activity

financial responsibility

money one owes

the things of value owned by a company
in the very beginning

a bond issued by a company and traded on the stock exchange
acknowledgement of indebtedness
expecting a return

have a right to sth

do without sth

relinguish

be chosen as a director

an unwillingness to accept sth

okay sth without looking at it

chair a meeting

Task 4. Fill in the blanks using the following words.

for expansion purposes; liability position; joint stock company; running of a

56




JIJTOBA AHIJIIMCbKA MOBA

company; to exercise stringent control; shareholders; shares; fraud; debenture;
obtain; incurred debts; disapproval; initially; funds; issues; executive directors;

loans.

1. Two documents must be drawn up in order to register a

2. It’s necessary over company formation and behaviour to

protect shareholders from

3. The terms “limited” and ‘“unlimited” refer to the of the

of a company.

4. Though shareholders may lose fully the value of the in the

company, they cannot bear responsibility for any further company’s

5. Companies their finance from the sale of
shares, but further future are possible
6. Companies are likely to raise additional through

issues and bank

7. Shareholders have the opportunity to express their of the

board’s actions, but normally find it impossible to force any changes in the

Task 5. Translate the following sentences in writing.

57




JIJIOBA AHIJIIMCHKA MOBA

1. Within the private sector of the economy companies are by far the most important
form of business unit in terms of the total value of output controlled and numbers
employed.

2. A safeguard is required to protect those people who have subscribed from losses
which might result from any attempt to commence business with an inadequate
financial base.

3. The directors of large public companies are usually unknown personally to
members of the sharebuying public, so it is necessary for stringent control to be
exercised over company formation and behaviour to protect shareholders from fraud.
4. The existence of limited liability obviously reduces the risk taken by people
providing the share capital of a company, but it does not eliminate it - this capital
can still be lost!

5. The return on share capital is considered by economists to be partly interest, as a
reward for the shareholders foregoing the use of the money for other purposes, and
partly pure profit bearing the risk of a low return and the loss of their share capital
through the bankruptcy of the company.

6. The board of directors is in fact elected by the shareholders, but it is likely, at
best, to be only the major shareholders (if any) who find themselves appointed to the

board, and it is this board which then makes the policy decisions.

Task 6. Make up and write down sentences of your own using the following words
and expressions.

* authorised capital

* shareholders’ meeting

* to grant

* funds
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* losses

liable for

*

* loan

dividend

*

* claim

*

have no say

Task 7. Ask questions to the words in italics.

1. Production within the private sector is carried out largely by companies, sole
proprietors and partnership.

2. A company is formed fo conduct business with a view to making profit.

3. Any legal processes carried out in relation to a company operate for as long as it
continues to exist.

4. Private companies do not need a trading certificate and can commence business
whenever they so wish.

5. Amount of dividends received by shareholders depends partly on the level of
profit and partly on the directors’ dividend policy.

Task 8. Open the brackets in the following sentences using the given words in the

correct form.

1. Now all limited companies (to be regarded) to submit

accounts, whether they (to be) public or private.

2. To encourage people (to take) the risk some reward must
(to be offered).

3. Dividends (to be paid) on existing shares out of profit made,

although some profit (to be retained) for future use.
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4. Finance may (to raise) on other ways than through the sale of
shares.
5. Anyone (to lend) money to a company (to

become) a creditor of the company.

6. One would (to expect) shareholders (to

have) some control over the operation of the business.

Task 9. Have a discussion on the topic “Private and Public Companies”. Use the
following questions as a plan.

1. What are the most important forms of business unit?

2. How is a company formed and registered?

3. What is the difference between a memorandum of association and articles of
association?

4. Why 1is it necessary to make a distinction between the public and the private
company?

5. How can shareholders be protected from fraud?

6. In what ways do companies obtain their finance?

7. Who are the owners of the company?

8. Who are the creditors of the company?

9. Who has a prior claim on the assets of the company in the event of its liquidation?
10. Is the board of directors elected by the shareholders?

11. Why do many shareholders never attend annual general meetings?

12. Why do people incorporate?

Task 10. Using active business vocabulary, write a short summary of the text (not
more than 200 words).

SUPPLEMENTARY TEXT FOR READING AND DISCUSSION
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HOLDING A MEETING

(adapted from: L.Y Kulish, E.A.Druyanova, M.F.Khachaturova. English for Communication.
Kyiv: Astarta, 1995)

Meetings are one of a manager’s most useful means of communication. Before the
meeting it’s necessary to identify the specific items for consideration and arrange
them in sequence in the agenda. Begin the meeting by stating its purpose. Keep the
discussion relevant, watch out for repetition. Where necessary seek clarification
from speakers. After each item has been discussed, briefly summarise the
conclusions. Avoid answering questions and getting involved in arguments.
Respond positively to suggestions and encourage alternative suggestions. Ask the
speakers open-ended questions and praise their contributions. At the end of the
meeting give an overall summary, relating the final conclusions to the initial
statement of the purpose of the meeting. Finally, finish the meeting on time. As the
end approaches, encourage speakers to keep their final contributions as brief as
possible. If you value the time of the participants of the meeting you are more likely
to get a full attendance at future meetings. So, holding a meeting requires good
leadership skills to be shown by managers. If meetings are duly prepared and
effectively conducted, they won’t be regarded as a waste of time.

DISCUSSION QUESTIONS

= Why are meetings one of a manager’s most useful means of communication?

= What should managers consider while preparing meetings?

= How is it possible for the chairman to keep the discussion relevant?

= What are the chairman’s concerns in dealing with people at the meeting?

= How is it necessary to organize a meeting so that it isn’t a waste of time?
Role-play a meeting with your staff on a relevant problem.

Topic 2. The Company Versus Sole Proprietor.
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Tasl 1. Learn the following economic and management terms.

—

. sole proprietor

. ownership, n

. savings

. salaried manager

. utilise, v

. scale of operations

. raise finance

o N N n B~ W

. go public

9. invest in

10.legal device

11.rely on

12.bear losses

13.be liable for debts
14.to the full extent
15.irredeemable

16.have money tied up somewhere
17.quote shares
18.Stock Exchange
19.be freely negotiable
20.cash, n

21.estate duty

22.be adversely affected

23.validity of contract

Task 2. Read and translate the text No.2.

OJIHOOCIOHWI BIIACHUK

BJIACHICTH

3a0111a PKCHHS

MEHEDKED, AKAW OTPUMYE 3apIuiaTy
BUKOPHCTOBYBaTH

MacmTab orneparii

30UpaTH KOIITH

CTaBaTH JIEPKABHOIO (KOMYHaIbHOIO) KOM-

MMaHIE 3 0OMEXEHOIO BIIIIOBIIAJILHICTIO

1HBECTYBaTH y

3aKOHHUH 3aci0

MOKJIaJIATUCS Ha

HECTHU 30UTKU

OyTH BIANOBIIANILHUM 3a O0pru
MTOBHOIO MIPOIO

AKUHW HE TiIsirae 0OMiHy Ha Tpoiii
MAaTH TpoIlli, IHBECTOBaHI y
BU3HAYATH IIIHY 32 aKITii
dboH0Ba OipKa

OyTH y BUIBHIN TTpOIaxi
rOTiBKa

M0JIATOK Ha HEPYXOME MaifHO
OyTu 60I04€e BpaKeHUM

3aKOHHICTh; JINCHICTb KOHTPAKTY
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THE COMPANY VERSUS THE SOLE PROPRIETOR

(adapted from: A.G.McArthur, Economic Theory & Organisation, Plymouth, 1980)

The sole proprietor type of firm, which contrasts most strongly with the company,
indicates that ownership lies in the hands of an individual, who will normally
provide the basic finance for the operation of the business out of his own savings.
However, this should not be taken to imply that he will always be responsible for the
day-to-day control of the business and that there will be no finance obtained from
other sources. Control could to a large extent be left in the hands of a salaried
manager and, as a sole proprietor business grows, it will become increasingly
necessary to obtain assistance in the management of the business. Also the sole
proprietor is not restricted to his own financial resources, and he may well utilise

funds provided by others, for example personal loans and bank loans.

In the UK economy the company and the sole proprietor are both common types of
firm. There are far fewer companies in terms of number, but they control a much larger
segment of the economy, which indicates that they operate on average on a larger scale
than the sole proprietor. However, the fact that they exist side by side implies that
neither has in itself any predominant advantages over the other, nor any overwhelming
disadvantages: there are, however, definite points in favour of and against each type.
These points relate partly to the actual forms of the firm and partly to the fact that the
form itself leads to other points which relate to the scale of operations. Thus,
companies tend to be very much larger than sole proprietor, because they are in a
position to raise more finance, but it must be remembered that small companies and
large sole proprietor businesses do exist and that the advantages and disadvantages of

size are thus not invariably related to the form of firm.
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The primary reason for the companies being able to raise larger quantities of finance
is their ability to issue shares and thus raise money from a large number of people.
The public company is in an even stronger position than the private one in this
connection, in that it can appeal to the general public. In fact, private companies
often go public in order to obtain further finance for expansion. Also, the existence
of limited liability for all shareholders is a definite encouragement to invest in
shares, and companies could never have developed to their present size without this
legal device. The sole proprietor must re/y much more heavily on his own financial
resources, and consequently his ability to expand tends to be very limited. He must
also bear fully any losses arising from his business operations and is liable for debts

to the full extent of his resources, business or personal.

For various reasons the company is also more likely to achieve a greater continuity
of existence. Once shares have been purchased in a company, they are normally
irredeemable, and the company thus has the use of such finance for as long as it
continues to exist. On the other hand shareholders are not forced as a result fo have
their money permanently tied up in a particular company, because shares can be
resold to other persons. In this connection the public company whose shares are
quoted on the Stock Exchange has the greater advantage, in that its shares are freely
negotiable, that is the shares can be sold to another investor at any time. A company
can thus continue to operate and expand without the fear that it may abruptly lose its
basic finance, unless a situation arises where cash must be raised from the sale of an
individual’s existing shareholding, but where no one is willing or able to buy. This
might arise on the death of a shareholder in a private company, the shares of which

will not of course be quoted. Estate duties may be payable and if the other
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shareholders are unable to afford to purchase the shares, the sale of at least some of

the assets of the business may be required to raise the necessary cash.

The sole proprietor business will be more likely still to be adversely affected as a result of
the death of the sole proprietor. To pay estate duties, at least some of the assets of the
business will have to be sold, possibly bringing it to an end, unless it can be sold as a whole,
in which case there is still no quarantee of its continued success under new proprietorship.
The quoted public company avoids these problems and has a greater chance of long-term
and smooth expansion. Also, all companies have the advantage of legal existence separate
from their shareholders, and the death of shareholders thus does not give rise to legal
difficulties, for example regarding the validity of contracts previously signed.
COMPREHENSION QUESTIONS

= How can sole proprietor raise funds for his business?

— Companies and sole proprietors exist side by side, don’t they?

= Who can raise larger quantities of finance: companies or sole proprietors?

= Who has limited life: a company or a sole proprietorship?

= Why will the sole proprietor business be adversely affected in case of the death

of the sole proprietor?

Task 3. Find in the text and write down corresponding equivalents.
tax on property consisting of much land and usually a large house
be hurt

legal acceptance of sth

one and only owner of a business

money saved

sb who is paid salary
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use sth

levy, collect, or bring together
become a public limited company

put trust in sb/sth

bear full liability

can’t be converted into cash

have money firmly invested

shares are easily sold

put money for profit into (stocks, etc.)
money in coins or notes

place for dealing in stocks

Task 4. Fill in the blanks using the following words.

savings; sole proprietor; extent; validity; quoted; utilise; irredeemable; loans; go

public; salaried; expansions; negotiable; funds; Stock Exchange.

1. The normally finances his business out of his own

2. To a large control could be left in the hands of a
manager.

3. The sole proprietor may funds provided by bank

4. Private companies often in order to obtain further
for

5. Shares are normally

6. Shares which are on the are fully
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Task 5. Translate the following sentences in writing.

1. Control could to a large extent be left in the hands of a salaried manager and, as a
sole proprietor business grows, it will become increasingly necessary to obtain
assistance in the management of the business.

2. It must be remembered that small companies and large sole proprietor businesses
do exist and that the advantages and disadvantages of size are thus not invariably
related to the form of firm.

3. The existence of limited liability for all shareholders is a definite encouragement
to invest in shares, and companies could never have developed to their present size
without this legal device.

4. Estate duties may be payable and if the other shareholders are unable to afford to
purchase the shares, the sale of at least some of the assets of the business may be
required to raise the necessary cash.

5. All companies have the advantage of legal existence separate from their

shareholders, and the death of shareholders thus does not give rise to legal difficulties.

Task 6. Make up and write down sentences of your own using the following words
and expressions.

* to have money tied up

* to the full extent

* to be liable for

* legal device

* to be adversely affected

* validity of

* to be freely negotiable

* to raise funds
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Task 7. Make the following sentences negative.

1. Once shares have been purchased in a company, they are irredeemable.

2. Companies could have developed to their present size without this legal device.

3. The public company is in an even stronger position than the private one.

4. Cash must be raised from the sale of an individual’s existing shareholding.

5. The quoted public company avoids these problems.

6. All companies have the advantage of legal existence separate from their
shareholders.

7. The name indicates that ownership lies in the hands of an individual.

Task 8. Complete the following sentences and write them down.
1. The sole proprietor type of firm is the one which ...

2. Control could be left in the hands of ...

3. The company had to raise more finance because ...

4. Shareholders were encouraged to ...

5. Without this legal device ...

6. To expand the scale of operations, the company ...

7. We had to sell shares because ...

Task 9. Have a discussion on the topic “The Company Versus Sole Proprietor”.
Use the following questions as a plan.

1. How does the sole proprietor type of firm differ from the company?

2. What type of business has more advantages? Why?

3. What type of business has more disadvantages? Why?

4. Are companies in a position to raise more money than sole proprietor businesses?

How can they do it?
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5. Why do companies need to raise large quantities of finance?

6. How is it possible to encourage people to invest in shares?

7. If shares have been purchased in a company, are they redeemable

8. Are shareholders forced to have their money permanently tied up in a particular
company?

9. If shares are freely negotiable, can they be sold to another investor at any time?
10. Why will the sole proprietor business be adversely affected in case of the death
of the sole proprietor?

11. In what kind of business is it better to be busy: sole proprietorship or
corporation?

Task 10. Using active business vocabulary, write a short summary of the text (not

more than 150 words).
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SUPPLEMENTARY TEXT FOR READING AND DISCUSSION
NEGOTIATING

(adapted from: L.Y .Kulish, E.A.Druyanova, M.F.Khachaturova. English for Communication.
Kyiv: Astarta, 1995)

Most managers are involved in negotiating. Successful negotiation is where you get
what you want. There are a number of factors that affect the negotiating process. All
these factors - attitudes, personal needs, sources of power - should be considered
before the negotiations. Your attitude means your high aspiration for good results,
your committment to the deal and determination to win. You should encourage and
take into account the personal needs of the other party. Then people will be more
willing to go along with you. The more you know about the other party, the more
time you have to negotiate, the more power you’ll have. Start negotiations with a
firm demand, but don’t be hostile. You may refer to the policy of your company or
regulations. Before making concessions, find out what the other party wants. The
longer you hold out, the more likely you are to get something in exchange. Don’t be
afraid of reaching a deadlock, but do it in a way that doesn’t reduce your credibility.
Try to keep the relationship friendly. It’s easier to get the agreement you want when the
other party is well-disposed towards you. It’s essential to maintain trust and integrity.
DISCUSSION QUESTIONS
= How do you understand the successful negotiation?
— What should be taken into account when planning the startegy of the
negotiations?
= What factors affect the negotiating process?
= Why is the question of power at the centre of all negotiations?
= How can you keep the relationship friendly throughout the negotiations?

Role-play negotiations on the relevant business problems.
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Topic 3. Partnership.

Task 1. Learn the following economic and management terms.

1. deed of partnership
2. dispute, n

3. be superceded by

4. joint stock company
5. limited liability

6. sleeping partner

7. general partner

8. silent partner

9. secret partner

10.withdrawal of money
11.run the business
12.compete, v

13.disruption, n
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Task 2. Read and translate the text No.3.
PARTNERSHIPS

(adapted from: A.G.McArthur, Economic Theory & Organisation, Plymouth, 1980)

There are no legal formalities which must be followed in the formation of a
partnership, as in the case of a company, but a legal document called a deed of
partnership is normally drawn up to govern the business relationship between the
partners and to indicate their respective positions. For example, the deed might show
the sums of money each partner is to invest, the method of distributing profits and

the voting allocation in the settlement of any disputes.

Partnerships are still common in some areas of business, particularly the professions, for
example, doctors, solicitors and stockbrokers, but elsewhere they have been largely
superseded by the arrival of the private joint stock company. The greatest advantage of
the small private company lies in the fact that all shareholders are able to have limited
liability. In the ordinary partnership all partners bear unlimited liability, including
sleeping partners. True, a limited partnership can be formed, which allows some partners
to be granted limited liability, but there must still be at least one partner - the general

partner - who has unlimited liability for any debts incurred in the business.

Partnerships also have many of the other disadvantages of sole proprietots, when
compared with companies. There are still the problems of continuity arising from the
death of a partner, which may involve the ending of a partnership and the
withdrawal of money, but on the other hand continuity with regard to the running of
the business should be less of a problem. On average, partnerships are, however,
more likely to be able to raise more finance than sole proprietors, but they still

cannot compete here with the public company.
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As regards control, partnerships possess some of the advantages of the company,
but lose some of the advantages of the sole proprietor. The work of control can be
spread among a number of people as in a company, but this can give rise to
difficulties as previously explained. Co-ordination becomes necessary and disputes
can arise, possibly in extreme cases causing the complete disruption and closure of
the business. Also, the actions of one partner are binding on the others, which is a
considerable disadvantage where unlimited liability exists.

COMPREHENSION QUESTIONS

= Are there many legal formalities in the formation of a partnership?

= What does unlimited liability mean?

= Can partnerships compete with the companies in raising finance?

= Are there any difficulties in exercising control in partnerships?

= How can disputes be settleed in partnerships?

Task 3. Find in the text corresponding equivalents.

a disagreement often settled in a court of law

legal document (used especially for transferring ownership of property)
partner not sharing in the actual work of a firm

to be replaced

disturbance

company formed on the basis of a joint stock

to rival (especially in business)

taking money out of business (account)

direct or manage (a business)
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Task 4. Fill in the blanks with the following words and expressions.

limited liability; debts incurred; deed of partnership; general partner; compete;

withdrawal of money; disputes; joint stock companies; unlimited liability.

1. On average, partnerships cannot with the public companies.

2. In the ordinary partnership all partners bear , including

sleeping partners.

3. All must be settled according to the

4. In case of the partnership may stop its existence.

5. The has unlimited liability for any in the
business.

6. Partnerships have been largely superceded by the arrival of the private

Task 5. Translate the following sentences in writing.

1. The deed might show the sums of money each partner is to invest, the method of
distributing profits and the voting allocation in the settlement of any disputes.

2. Limited partnership allows some partners to be granted limited liability, but the
general partner has unlimited liability for any debts incurred in the business.

3. Co-ordination becomes necessary and disputes can arise, possibly in extreme
cases causing the complete disruption and closure of the business.

4. The actions of one partner are binding on the others, which is a considerable

disadvantage where unlimited liability exists.
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Task 6. Make up and write down sentences of your own with the following words
and expressions.

* dispute

* joint stock company

* to withdraw money

* to run the business

* to compete

Task 7. Complete the following sentences and write them down.
1. A legal document was drawn up to ... .

2. Partnerships are common in such professions as ... .

3. All partners were granted ... .

4. When compared with companies, partnerships ... .

5. After withdrawal of money ... .

6. We couldn’t compete with ... .

Task 8. Open the brackets in the following sentences using the given words in the
correct form.

1. A deed of partnership (to draw up) to govern the business

relationships between the partners.

2. We (to settle) our disputes according to the deed.

3. Partnerships (to supercede) by the appearance of the private

joint stock companies.

4. All partners (to bear) unlimited liability,

(to include) sleeping partners.

5. Our business (to incurr) a lot of debts.
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6. To stop the partnership, I (to withdraw) my money.
7. Our partnership couldn’t (to compete) with the public
company.

Task 9. Have a discussion on the topic “Partnership”. Use the following questions
as a plan.
1. What legal document is normally drawn up to govern the business relationships in
the formation of a partnership?

. How are disputes settled should they appear in the partnership?

. Are partnerships common in many areas of business?

. Who bears unlimited liability in the ordinary partnership?

. What is the role of the general partner in the limited partnership?

. Who is able to raise more finance, partnerships or sole proprietors?

2
3
4
5
6. What may death of a partner involve?
7
8. Are partnerships always successful?
9

. What difficulties are there in the running of the partnership?

10. What may cause complete disruption and closure of the business?

Task 10. Using active business vocabulary, write a short summary of the text (not

more than 150 words).
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SUPPLEMENTARY TEXT FOR READING AND DISCUSSION
HANDLING COMPLAINTS

(adapted from: L.Y Kulish, E.A.Druyanova, M.F.Khachaturova. English for Communication.
Kyiv: Astarta, 1995)

Managers would prefer to avoid complaints, but in fact a complaint should be
welcomed. Any contact with a customer is an opportunity to improve business, and
even a dissatisfied customer is no exception. A complaint can be turned into good
public relations. In case of complaint try to see the situation from the customer’s
viewpoint. Show the customer that you’re concerned, that you take his complaint
seriously. You can always show sympathy for the customer’s problem without
actually accepting responsibility for it. Show the customer that you understand him,
negotiate patiently and make some concession. Complaints should be dealt with as
quickly as possible, but avoid making a decision right away. Promise to investigate
tha matter and arrange meeting with the customer. It’s a good idea to take notes
because this shows you think the customer’s complaint is important. If you have to
reject the complaint, you should show that the rejection is in no way due to a lack of
respect. If the complaint is justified, you should accept responsibility, apologise and
compensate. Finally, always investigate the causes of complaint. Find out what went
wrong and make sure it doesn’t happen again.

DISCUSSION QUESTIONS

= Should a complaint be welcomed?

= How can a complaint be turned into good public relations?

— How should complaints be dealt with?

= In what cases will you

a/ accept responsibility?

b/negotiate?
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c/make concession?
d/reject the claim?
—What is it necessary to do to avoid complaints?

Role-play a conversation with a customer who visited you with a complaint.

TEST
Task 1. Match the terms on the left with the appropriate definitions or paraphrase
on the right.

fraud 1. direct or manage a business

liability 2. money lent to sb

debt 3. partner not sharing in the actual work
of a firm

debenture

4. share of profit paid to shareholders

loan 5. official administrative body of a

redeemable company

run the company 6. tax on property

7. the things of value owned by a

funds
— company
go bankrupt 8. a bond issued by a company and
assets traded on the stock exchange
9. to chair a meeting
dividend

10.money lost

board of directors 11.company formed on the basis of a

losses joint stock
12.property and possessions

claim
. 13.can be converted into cash
utilise
: 4.1llegal activit
be fully negotiable 4. tlicgal activity
15.demand or request for sth
cash

16.MONey one Owes
estate duty Y
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withdrawal of money 17.one and only owner of a business
preside over a meeting 18.to use sth
sole proprietor 19.to have money firmly invested
have money tied up somewhere 20.shares are easily sold
invest in 21.put money for profit into (stocks, etc.)
sleeping partner 22.money in coins and notes

______joint stock company 23.be legally declared insolvent

24.taking money out of business

25.financial responsibility

Task 2. Read and translate the following text.

WHO CONTROLS THE MODERN FIRM?
(adapted from: A.G.McArthur, Economic Theory & Organisation, Plymouth, 1980)

The characteristic pattern of corporate ownership is that tens of thousands or
hundreds of thousands of shareholders own tiny fractions of the total, while
dominant groups (often including other corporations) may hold anything from 3% to
20% of the voting stock.

It is quite possible for the owners of a minority of the stock to control a majority of
the shares that are voted and thus to exercise effective control over the decisions of
the corporation. This possibility arises because not all shares are actually voted.
Each share of common stock has one vote in a corporation. Shares must be voted at
the annual meeting of stockholders, either in person or by assigning a proxy to
someone attending. Any individual or group controlling 51% of the stock clearly
controls a majority of the votes. But suppose one group owns 30% of the stock, with
the remaining 70% distributed so widely that few of the dispersed group even bother
to vote; in this event, 30% may be the overwhelming majority of the shares actually
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voted and thus represent a controlling interest in the corporation. In general, a very

small fraction (sometimes as little as 5%) of the shares may exercise dominant

influence at meetings of stockholders.

0 The hypothesis of minority control is that a well-organized minority often
controls the destiny of the corporation against the wishes of the majority.

Dispersed ownership and minority control are well established in the corporate
sector. There is no evidence to show that controlling groups of stockholders
generally seek objectives different from those sought by the holders of the majority
of the firm’s stock. Of course, disagreements between stockholder groups sometimes
arise. A colourful phenomenon in corporation history is the proxy fight, in which
competing fractions of stockholders (or management) attempt to collect the voting
rights of the dispersed and generally disinterested stockholders.

A different consequence of diversified ownership was suggested in the 1930s by

Berle and Means. They argued that, because of diversified ownership and the

difficulty of assembling stockholders or gathering proxies, the managers rather than

the stockholders effectively control the corporation.

o The hypothesis of the separation of ownership from control is that
managerial control occurs and leads to different behaviour than would
stockholder control.

In the modern corporation, the stockholders elect directors, who appoint managers.

Directors are supposed to represent stockholders’ interests and to determine broad

policies that the managers will carry out. In order to conduct the complicated

business of running a large firm, a full-time professional management group must be
given broad powers of decision. Although managerial decisions can be monitored

from time to time, they cannot be supervised in detail. In fact the links are typically
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so weak that top management often does truly control the destiny of the corporation
over long periods of time.

As long as directors have confidence in the managerial group, they accept and ratify
their proposals, and stockholders elect and re-elect directors who are proposed to
them. If the managerial group behaves badly, it may later be removed and replaced -
but this is a drastic step and is not often taken.

Within wide limits, then, effective control of the corporation’s activities resides
with the managers, who need not even be stockholders. The management group
characteristically asks for, and typically gets, the proxies of a large enough number
of stockholders to elect directors who will reappoint it - and thus it perpetuates itself

in office.

Task 3. In writing answer the following questions to the text.

1. Is it possible for the owners of a minority of the stock to exercise effective control
over the decisions of the corporation?

2. How many votes in a corporation does each share of common stock have?

3. Who usually votes at the annual meeting of shareholders?

4. Can any individual or group which owns less than 51% of the stock represent a
controlling interest in the corporation?

5. What is the hypothesis of minority control?

6. Why is there the proxy fight in corporation history?

7. Why do rather the managers than the stockholders effectively control the
corporation?

8. Does managerial control lead to different behaviour than would stockholder control?
9. Who appoints managers: stockholders or directors of the corporation?

10. How does tha management group perpetuate itself in office?
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Task 4. Make up sentences of your own using the following words and expressions.

* to purchase stocks

% proprietorship

* to be responsible for debts and losses
* to have an advantage

* t0 assign a proxy to

* to elect

* stockholder

Task 5. Translate the following sentences in writing.

1. It is quite possible for the owners of a minority of the stock to control a majority
of the shares that are voted and thus to exercise effective control over the decisions
of the corporation.

2. A colourful phenomenon in corporation history is the proxy fight, in which
competing fractions of stockholders (or management) attempt to collect the voting
rights of the dispersed and generally disinterested stockholders.

3. The management group characteristically asks for, and typically gets, the proxies
of a large enough number of stockholders to elect directors who will reappoint it -

and thus it perpetuates itself in office.

Task 6. Correct and rewrite only those statements which are false.

1. Disagreements between stockholder groups sometimes arise.

2. Majority always exercise effective control over the activity of the corporation.
3. Shares must be voted at the annual meeting of stockholders in person.

4. Any individual or group represents a controlling interest in the corporation.

5. Managers carry out policies determined by the board of directors.

6. Managers need to be stockholders.
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Task 7. Open the brackets in the following sentences using the given words in the

correct form.

1. Managers

complicated business of

2. Last time directors

managerial group.

3. Stockholders usually

(to appoint) by the directors to conduct the

(to run) the firm.

(not to accept) the proposals of the

(to propose) to them.
4. The board of directors

replace) the managerial group because it

5. Sometimes stockholders

(to elect) directors who

(to decide) (to
(to bahave) badly.

(not to bother) (to

attend) the meeting.

6. A well-organised minority often

(to control) the destiny of the

corporation.

Task 8. Fill in the blanks with the following words and expressions.

shareholders; market; fund; proxy; profits; shares; annual meeting; wealth; incurred

heavy losses; management; managers; run; partners; directors; investments.

1. The shareholders of a company do not always agree with the

on how the business should be

2. The company generated good

from its business this year.

3. The firm finds it hard to

the it needs to

make to modernize the plant.

4. BMW has

spoilt its overall results.

in the UK

, which have rather
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5. In ordinary partnerships the are liable for the debts of the

business with their personal

6. A group of attempted to collect the voting rights to exercise

influence at the

7. A large number of stockholders elect who will appoint

8. Not all are actually voted.

Task 9. Read the following letter and mark these statements true (T) or false (F).

a [0 Luis got the job for a one-year period.

b O Alan Green promises Luis a $5,000 pay rise in a year’s time.
¢ O Luis will receive shares in the company.

d O Luis must start immediately.

e 0 The contract is closed.
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AVRC

P.O. BOX 2435
LONDON W1AA 6WW

Luis Antonio de Oliveira
53, rua Maria Angelica
22461 Rio de Janeiro
BRAZIL

6th July 200x

Dear Mr de Oliveira,

Thank you very much for coming to see us in London the
day before yesterday. We were very impressed with your
interview and would like to offer you the position of
Marketing Manager (Antibiotics) for South America. We
would like you to start in three months” time.

After a one-year period, we expect to see our market
share grow. We are sure you can help us to achieve this.

The starting salary will be $85,000 p.a. plus car and
full medical insurance. In the second year, this will
rise to $90,000. You will also receive regular profit
shares based on sales figures for your area.

IT you would like to accept this offer, please contact
me at the above address and we will draw up a contract.

I look forward to hearing from you.
Yours sincerely
Alan Green

Alan Green
Human Resources Manager.

(from Business Basics by D.Grant, R.McLarty, Oxford, 1997, p.143).

Task 10. You are Luis. Send a letter to Alan Green replying to AVRC'’s job offer.
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VOCABULARY
A
accounts payable - ouikyBaHi BUTpatu
accounts receivable - ouikyBaHi HaJXOIKEHHS
accumulation - 301IbIIICHHS; HATPOMAJKEHHST; KOHIICHTPAIIis
advertising - pexiama
achieve - nocsaratu
adopt sb’s idea - cxBanuTH, CIPUHHATHA YUIO-HEOY b 1/1€10, TYMKY
aggregate demand - CyKyniHUM ITONIUAT
allocate resources - BUAUTATH, PO3NOAUIATH PECYPCH
allowance - 3HIDKKa (SIKy HAIalOTh TYPTOBI TOPTOBIII PO3APIOHIM)
at current prices - 3a TOTOYHUMH LIIHAMU
assets - aKTUBHU
authorised capital - craryTHuii kanitan
average price - cepeHs 11Ha
B

balance of payments - GajaHc miaTexis
bargaining power - nepeBaru; cuiia apryMeHTIB IpU BeJICHHI eperoBopiB
be adversely affected - 6yt Goroue BpaxkeHUM
be appointed to the board - OyTu npu3HaYeHUM Yy YJICHHU TPABIIHHS
be aware of - 3HaTH, YCB1IOMITIOBaTH
be constrained - Oyt oOMexeHUM; 3MEHIIIEHUM
be entitled to - matu npaBo Ha
be freely negotiable - 6yTu y BibHIN Tpoaaxi
be liable for debts - OyTu BianoBiganbHUM 32 OOpTU

be severely hit by sth - 0yTu cepiio3Ho ypaxeHum 4-H
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be subject to - OyTu mignopsaKoBaHUM; OyTH CXUIBHUM JI0
be superceded by - 0yTu 3aMmiHEHUM
bear losses - HecTu 30UTKH
bear responsibility - HecTu BignoBinanpHICTh
bearer bond - obGniraiis Ha pea’ IBHUKA
board of directors - paga mupexTopiB, IpaBIiHHS
boost, 1 - (ekOHOMIUHE) MTOKBABJICHHS
bottleneck - 3aTpumka; BicTaBaHHS
boundary - mexa
C
capital accumulation - kamiTasoHaKOTTUYEHHS
capital turnover - o6opoT kamiTary
cash - rotiBka
cash discount - 3HMXKa 3a OIJIaTy TOTIBKOIO
casual labour - TumyacoBa po6oya cuia
claim, »n - BuUMora; npeteH3is
coincidence - criiBmagaHHs
collective bargaining - neperoBopu npo ykiiagaHHs KOJIGKTUBHOT'O JOTOBOPY
commodity - ToBap
compete - 3Maratucs; KOHKypyBaTu
competitive price - KOHKYpEHTHOCIPOMOKHA I[1HA
consistent with sth - y3romxenuii 3 ynmM-ae0y1b
consumer goods - CII0O)X1BY1 TOBapH
counter-cyclical - 3axoau, sIKi MPUIUMAIOTHCS 711 HEUTpasli3allii HeTaTUBHUX
e(eKTiB EKOHOMIYHOT TOJIITUKH

counter flow - pyX y 3BOpOTHOMY HanpsIMKy
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creeping inflation - moB3y4a i
current account - TOTOYHUN PaxyHOK

cut taxes - CKOpOUyBaTH IMOJAaTKU

damages - 30uTKH

deal, n - yrona

debenture - 6oprose 30008’ 13aHHS

deduction - BupaxyBaHHs

deed of partnership - akT cTBOpeHHs TOBapuCTBa

deferred payment - BigTepMiHOBaHUMN TMJIATIXK

deficiency in sth - gedinuT, Hectaua yoro-HeOyab

delivery time - mepio 10cTaBKU

deter borrowing - cTpumMaTH 3a1103UYEHHS

deteriorate, v - ncyBaTucsi; 3HOLIYBATUCS

disapproval of - HecxBaneHHs; HeOakaHHS 3aTBEPAUTH 1I0-HEOY b

dispute, n - criip, cynepedka

disruption - pyiiHyBaHHs; pO3KOJ

dividend - nuBinenn

division of labour - po3nozin npaiii

downturn in the economy - criaj B ekoHOMIITI

durables - cio’uBY1 TOBapu TPUBAJIOTO KOPUCTYBAHHS
E

economic and social problems - ekoHOMIYHI 1 colialIbHI MPOOIEMH

economic indicator - eKOHOMIYHUIN TOKa3HUK

economic policy - eKOHOMIYHA TOJIITUKA; TUTaH A1

efficiency - mpoaykTuBHICTH, €)EKTUBHICTD

88



JIJTOBA AHIJIIMCbKA MOBA

embezzlement - po3Tpara

emphasize sth - naronomysaru mo-ue0yab

encourage investment - CpusTH; 3a0X0UyBaTH 1HBECTYBaHHS

equitable distribution of income and wealth - piBHuii, cipaBeIMBUY pO3MIOALT
oX0Mdy 1 ObaraTcTBa

estate duty - moaToK Ha HEPYXOME MAKHO

executive director - BUKOHaBUMI TUPEKTOP

exercise strongest control over - 3/11iiCHIOBaTH CTPOTHI KOHTPOJIb HaJ

excess purchasing power - HaMipHa KyTiBeJIbHA CIIPOMOXKHICTb

expenditure - BuTpara

extention - po3mMpeHH

extremely flexible - Hag3BUYaliHO THYYKHIA

F

fall, » - cnag

finance house - pinancosa xommnanis

fixed/floating exchange rate - QpikcoBanuii/miaBarounii Kypc
fluctuation - konuBaHHS (KypcCy; MOMUTY 1 MPOMO3HUIIIT)
forecast, v - mepenbauatu

forego sth - BigmMoBSITHCS, YyTpUMyBaTHCA (B1]1 Y4OTOCH)

for expansion purpose - 3 METOIO pO3LINPEHHS

franco trade area - 30Ha BUIBHOI TOPTiBIIi

fraud, » - oOMaH; He3aKOHHA JISILHICTH

fringe benefits - 101aTKOB1 BUHAropoau

full-time employment - moBHa 3aiiHATICTH

function as a rubber stamp for sth - cxBantoBatu mocs 6€3 po3risiay,

00 TyMyBaHHS
funds - xowrtn
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G
gearing, » - CIiBBITHOIICHHS OOPTY 0 aKTUBIB KOMIIAHIi
general partner - renepaJibHUN TapTHEP/KOMIAHBHOH, KU1 HeCe TTOBHY
IOpUIUYHY BIAMOBIAAIBHICTH 3@ CIIPaBy
generate, v - BUpOOJISITH, TBOPUTHU
go bankrupt - 36aHkpyTyBaTH
go public - ctaBatu nepkaBHOIO (KOMYHAJIBHOIO) KOMIIAHIEIO 3 0OMEKEHOIO
BIJIOB1AAJIbHICTIO
government expenditures - ypsiioBi BUTpaTH
gradual reduction - mocTymnoBe CKOpOYEHHs
grant, v - 1aBaTu 3rojy; A03BOJISITH
Gross Domestic Product - BanoBuii BHyTpillIHIi OPOIYKT
H
have money tied up somewhere - Matu rpoiii, iIHBECTOBaHi1/3aly4eHi y
have no say - He MaTH paBa rojocy
have sth at (sb’s) disposal - maTu moch y (cBoeMy) pO3MOPSIKEHH1
hinder, v - nepemkoxaTu
hire purchase - opeHa 3 npaBoM BUKYILY
hitherto - 10 cux mip, 10 TENEPINIHLOTO Yacy
household - HeBUpOOHUYHNI CEKTOP EKOHOMIKH
I
in anticipation of - B ouikyBaHHi mpuOyTKiB
increment - mopiYHMI PUPICT 3apOOITHOT IIIATH
incurr debts - HakonmuyBaTH 60prU
indemnity - kommnieHcalis; BiIIKOyBaHHS

induce sth - conykaTti, cTUMyIIOBaTH 110-HEOY B
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inevitably - HemuHyue
in excess of - OuIBIIE, HIX
initially - cnouarky; mo4aTkoBO
inject sth into sth - nonaBatu; BBOAUTH y II0CH
insurance - cTpaxyBaHHS
interest - mporieHTH (Ha KarmiTan)
interest rate - nmpoLeHTHA CTaBKa
in terms of money - MOBOIO TPOIIICHi; Y TPOIIIOBOMY BHpPa)KEHHI
invest in - iHBecTyBaTH y
irredeemable - sxuii He miIsiTaE OOMIHY Ha TPOII
issue bills and bonds - Bumyckatu Bekceri i obmirarrii
issue shares - Bunmyckaru akiii

J
joint-stock company - axkiioHEpHE TOBapPUCTBO
joint venture - ciiibHE TiATPUEMCTBO

L
lay sb off - ckopoTuTH Koro-uedynp (3 po6oTn)
leak out of sth - BuTikaTu 3 yoro-ueOyapb
legal device - 3akoHHUI crocio
lend, v - no3nyaTtu (komy-HeOyIb)
letter of credit - akpenuTuB
liabilities - nacuBu
liability position - pinancoBa BiamoBIaTBHICT
liable to unemployment - cXunpHUN, Yy TAUBUNA 10 6€3pOOITTS
limited liability - oOMexeHa BiIOBIIaIbHICTD

living conditions - yMOBU XKUTTA
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loan, » - mo3uka
losses - BTpatu
low-cost method of production - HU3pKO3aTpaTHUIT METO] BUPOOHHIITBA
M
major shareholder - akiionep, sikuif Ma€ KOHTPOJIBHHM MaKET aKIIii
majority shareholding - konTpoIbHUI NAKeT akIii
make people redundant - 3BiIbHATH JIFOACH 3 pOOOTH
managing director - TUPEKTOP-PO3MOPSIAHUK
market value - puHKOBa BapTICTh
means of production - 3aco6u BUpoOHHIITBA
meet creditors’ demands - 3a10BOJIbHATH BUMOTH KPEAUTOPIB
merger, 7 - 3TUTTS (KOMIIaH1H)
money laundering - BigMuBaHHS rpoieit
mortgage, n - IMOTEKa; 3aKJ1aJ]
N
net profits - yuctuit npudyTOK
0]
obstruct, v - nmepenkomkaTu; TypoyBaTu
obtain, v - orpumaru, npugdoaTu
offer for sale - mpomo3uilis Ha TPOJAKY
ordinary shareholder - Bnacuuk mpocToi axitii
output, n - BUnyck (poaykKIii)
outstanding bill - HeonaueHuit paxyHok
overhead costs - HakIaiHI BUTpaTH (BUTPATH HA TOCIIOAAPCHKE
00cITyroByBaHHSI BUPOOHUIITBA 1 YIIPABIIIHHS)

ownership - B1acHiCTh
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P
payment order - miaTi>KHe JOPYUCHHS
per head/per capita - Ha 1y1y HaceJleHHs
period of boom - nepiog eKOHOMIYHOTO 3pOCTaHHS, 37ACOTBIIIOTO
HEKOHTPOJIbOBAHUMN
personal identification number (PIN) - ocobuctnii ineHTH}IKAIHHAIN HOMED
piece-work payment - BiapsigHa orjaTta
preference shareholder - BjacHuK npuBiIeHOBaHOI aKIlii
preside over a meeting - rojoByBaTH Ha 300pax
prevent sth (from happening) - 3ano0irtu, nepemKoIuTH
private property - npuBaTHa BJIAaCHICTb
promote, v - CIpUATH, 3a0X049yBaTU
prosper, v - mpouBiTaTH ((piHAHCOBO)
Proxy - JOBIPEHICTb
purchase, n - mokymnka

Q

quote shares - mpu3HauaTH/BU3HAYATH IIHY 3a aKIIii; KOTUPYBATH aKIlii
R

raise finance - 30upatu rpomri

rate, n - CTaBKa; piB€Hb; HOpMa

rate of economic growth - TeMn eKOHOMIYHOTO 3POCTaHHS

rationing - HopMyBaHHS

recovery, 7 - I0O>)KBaBJICHHS (BUpPOOHHUIITBA)

receipts - TpoIIoBi HAJAXOMHKCHHS

recession - TUM4acoB€ YIOBIIbHEHHS TEMITIB €KOHOMIYHOTO PO3BUTKY

recover, v - IOIPaBJIsATUCS; TOKPALyBaTUCS
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recruit labour - npanesnamToByBaTn
reduce the level of unemployment - ckopoTuTH piBeHb 6€3p00ITTS
relaxation of credit - cipoiieHi yMOBU KpeauTyBaHHS
rely on - nmoknanarucs Ha
rent, 7 - OpeHIHA 1J1aTa
renumeration - BUHaropo/a; orJjara mnpari
retail trade - po3piOHa TopriBius
retain profit - yrpumyBatu npudyTox
return on investment - 10Xi/1 Ha BKJIaJICHUI KamiTal
revenue, 71 - IOPIYHUIN JOX1]T
rise, 7 - 3pOCTaHHs
run the business - kepyBatu pipmMor0; BeCTH cripaBu
S
safeguard, n - 3axuct
salaried manager - MeHeKep, IKUN OTPUMYE 3apIliaTy
savings - 3a011aJ[KCHHS
scale of operations - macmrab onepartiit
secret partner - CeKpeTHHUI MapTHEP/KOMITAHBIHOH (3 TPaBOM T0OJI0CY, aje
HEB1JOMUH TPOMAJCHKOCTI SIK MTAPTHED)
seek to do sth - Hamaratuch 3poOUTH IIOCH; MIYKATH 3aCO0U
self-sufficient - camoocraTHii, He3aNEKHUH EKOHOMIYHO
share, »n - akiisg
shareholder - akmionep
shareholders’ meeting - 300pu akiionepis
silent partner - MmanoBigoMuil mapTHEP/KOMMIaHBHOH

sleeping partner - nmapTHep/KoMIIaHbOH, KU HE Oepe aKTUBHOI y4acTi y
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poGoTi pipmu
sth is likely to happen - npaBronoai6HO, IOCH TPANUTHCS
social costs - cycIuibHI 3aTpaTu
sole proprietor - 0o JHOOCIOHMIA BIIACHUK
spin-off in activity - 3ropTanHs IisTIBHOCTI
squeeze profit margins - ckopoTuTu npuOyTKH
steady increase - criiike 30UTbIIIEHHS
stock exchange - ¢ongoBa Oipxa
subscribe to - mignucyBatucs Ha (akirii)
subscription clause - iHdopmarrisi B JOKyMEHTI, sIka BKa3y€, CKUIbKU aKIIii
MOBHWHHO OYTH MPOIaHO
subsidize, v - HagaBatu ypsiioBy (piHAHCOBY HMiATPUMKY
supply, 7 - npomo3utris
surge in growth - panToBuii, aje HEIOBrOTPUBAIHM MEP10] EKOHOMIYHOTO
3pOCTaHHs
surplus, 7 - HaanUOK (MPUOYTKIB HAJA BUTPATAMH )
survive, v - BIDKMBaTH
T
takeover offer - mpomno3uiris Ha 3TUTTS (KOMIaH1)
tasks of production distribution - 3aBganHs BUpoOHUIITBA 1 pO3MOILITY
taxation - onofgaTKyBaHHs
tax cuts - CKOpOUEHHS TOJIaTKiB
threat, n - 3arpo3a
time lag - yacoBe BijcTaBaHHs
to the full extent - moBHOIO MipoOIO

trade, v - TopryBatu
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transaction, n - (Toprosa, (hiHaHCOBa) oreparris
transfer of shares - nepenaua axii
Treasury deficit - 6roxeTHII AeITAT
turnover, n - 060poT
U
under market conditions - B puHKOBHX yMOBax
unemployment benefits - kommencartii; mormomora mo 6€3pooITTIO
unemployment rate - piBeHb 6e3po0ITTs
unexploited natural resources - Hepo3BiJaHE POJOBHUIIE KOPUCHUX KOTIAIUH
upturn in the economy - 3pocTaHHs B €KOHOMIIII
utilisation of resources - BukoprctanHs pecypciB
\%
validity of control - 3aKOHHICTB; MIHCHICTb KOHTPAKTY
value, » - IHHICTH
value added tax (VAT) - nogatok Ha nogany Bapticts (I1IJIB)
voting right - mpaBo rosocy
W
welfare, n - 106po0yT
wholesale trade - onToBa Toprisius
withdraw money - 3HiMaTH rpoiii 3 paxyHKy
work permit - 103B1J1 Ha TIpaIrko
Y

yield, 7 - moXijx 1Mo IIHHKUX Tanepax
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